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table3 1238

TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
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Correction to height
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Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
after the time for which the height i3 required. The differcnce between the times of oceurrence of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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table3_1248

TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
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Corrertion to height
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Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
alter the time for which the height is required. The differcace between the times of occurrenes of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with tif duration of rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Time {rom the nearest high water or low water
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Correction to height
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Obtain [rom the predictlons the bigh water and low water, one of which is befare and the other
alter the time for which the height is required. The differcace between the times of occurrenes of
thesa tides is the duzation of rise or fall, and the difference between their heights is the range of tide
for the sbove table. Fiod the differcnce between the pesrest high or low water and the time for
which the height is required. : :

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horitontal line find the tire (romn the nearest high or low
watar which sgrees most nearly with ths corresgon.dlng sctual difference. The correction sought is
in the column directly below, on the Jine with the ranes of tide.

When the nearest tide is high water, subtract the corrsction.

When the nearest tide is low water, add tha correction.

table3 1260
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table3 1279

TABLE 3.HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
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E gos|ots|o32to4Rb104(120(130 152|208 2i240| 2588312 373 (344|400
S a20[0171033j050{107)1 23 L4157 | 2137236 247:303:320|33713353 410
g gipfoi7loaslosz|ioni1er|idd]| 201 210|238 2533113287345 (40342
S 9000183036108 p12/170| 148208 [ 2241 242: 3003318 330]354[412]42
To90]019(037 g5a|13a[1331152] 211 20024 |307 (32534343 |428]440
5 94p |o19]035|caB 127137 (156215 295|254 (313 [333|352{411 43148
woe|o20l040]1001120]|140(200 290 (240]30013201340;400 42014401 500
1W2030203041[102)123] 1434204 posla4s|30n|a2riadTidng 42974491510
104010204043 | 10412539147 aop| 290|251 |2312|333|355 416 437|450 820

Corrertion to height

Fe. | Ft.| Fe.y Fu. | Fi. | FtL. Fol Ft | FL Y Py FuLo| FL a3 It Fi. Y F1.
o.51oc]00loo]|ooi0o]0D] Gi ot 1] etf o1] 021 0.2y 0.2] 0.2
Lefoolon|o0h0g|0l1]0l 0.1 o2t 02| 0.2] D.3 0.3] 0.4 0.4] 0.5
1.5]o0l0c|oo|ntiol]0.:] G2 .2 0.3 0.4] G4 0.5 C6f 071 0.3
relooloojoolor]oi|ez| 03 3l oe| o5k 6] 07| 0.8] 0.9 LO
veloofoolot|0r}02l02] 03 0.4l 05| 06gl o¥] 09| LO| 1| L2
soloclooele1rlor|a2(0ld| 04 0.5| 46| 085 0.9 1.0 1.2 1.3 1.5
s.51oo0fcooL|0a2]|02|03] 0.4 0.6% 0.7] 69| Lo n2] L4 L6 18
tolooloclor|o2i03j0.4] 0.5 o5l as} o] L2y 1L4] 16| LB[ 20
¢5toolo00]o1102]0.3|04]| G.6 0.7] 9.9 L1 1.2 1.6 1.8 2.0{ 2.2
sofooiot|oi]e2]03]|0.5] 0.6 0.8 Lol n2) L8| LT 2G) 22| &

. poelotiovbozlest)os| 0.7 0.9 L1 1.4 L6 L. 221 2571 2.8
gobooto:|otjodlcsdbos| o8y 20 L2] Le| L8[ 21 24) 27/ 2.0

” sojotr|o2|a3pes]06; O8] LI 3| 18] Lo} 22§ 26| 29 ‘3.2

s LOJ0O]DI 621903]0570.75 0.9 1.2¢ L4 1.8] 2.1 247 287§ 3.1 3.5
5 L8100EG1 o.21c3l0s5|o7| Lol L2f L&] LS 22| 28] 3.9 3.4] 3.8
Z goloolorlce2|oz|ostos| Lo L3 1.6 20| 2.4) 281 3.2y 36| 4.0
2 8500010620408 0.8 L1} nd4] LE| 21 25| 28] 3.4 L8] 4.2
'; g.ojooloL(nz2(0o4j08(00 L2i L5 L9 22] 271 3.1 A6 40| 45
g 9.5}00[01 0.2(04]0.6;0.9 1.2 L6 20| 24| 2.8 3.3] 38 431 4.8
o 0o ooloi]o2te4lor]lo] L3| L7 21 23 3.0 3.8 40| 4.5 50
75: w.5]oojeiiodjos|or| Lol L3 1.7 221 26| 3.5} 3.8% 42| 47} 62
2aejocfor]ostesior)hl L4l L8] 23| 28} 3.3] 3&B| 44} 49| 55
: imsjoolor|o3josjos|1y L .07 24 26| 3.4 40} 46 &1} 58
w 13,0 colet1losfes|ogfnt] L&Y 28] 23 300 6L 41 4.8 547 6.0
S 15100 (01][0.350.5 ¢g|n2y Lo 21| 26| 3.1 3.7 43 591 5.8 6.2
= 1iof{oc{oi|oalon|0eyl2| L7 220 25] 32| 36| 457 51| 581 85
isloololioalontog (i3 L7 22] 28| 3.4} 40l 47) 52| 60| &8
14.0100]0.2|03]06|008{03] L8 23| 291l 2.5] 42| 487 58| 83| 1.0
tesloolo2josloc)lofld] L9 241 30| 36| 431 50| 57| 6.5 7.2
15,010.0[0.2]0<¢]06)1L0]1.4 1.9 25| 3.1| 58| 44§ 521 89| 67 7.6
15510010 2)0.4|0.7]10]LS 2.0 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1sotoolo2]{major|tL|Ls| 21 257 33| 0] 47§ 551 63| 7.2| &0
5.5]00502|04|0DT7FLLfREL 2E a7 34| 41} 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA 298 wat 35 42| 50| 50 67 7.6] &35
17.5jco|Gzjo4l08 (12|07 22 2671 36| 44| 5.2) 6.0 6.9 7.8 8.8
wofoofez|o4]osfrelur| 23| a0 ar] 45| 63| 6z} 71| 81] 0.0
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 48 651 64| 7.3 8.3 9.2
poloifo2les5(08(L3 1.8] 24t 31| 30| 48| 56] 6.6| 7.5 &% 0,5
19,5106 10.2|05]08] L3 9] 25| 321 40| 49| 58] 67| 7.7| 87| 0.8
wn|otfoz|os|09rL3fLsl 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
after the time for which the height i3 required. The differcnce between the times of oceurrence of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water

A, H_m.h,m.h,m.!h.m.h‘m.h. mlh mlhm | m b b m b m bl m Lk om
s0olooa|oelo2e]as2 0401 G481 0 36 104|121 20|12y 136]|144b132kF200
£20]0093017102670351043 o211 100t 18 127 151 44 1583({20t7210

o 440]009)019 028|037(0475056/105] 1135 PR TO S I B L I Q- S ) B A 1§ 220
_é 5001010020l 0307040t080] 100 r10lieo|130]1d0]|150{200|210(220] 230
Z soafori|o2t|0a2|043j053[104 Tialeosbias|LarlLs7|208|218:2291240
§ oitloz|oadlossfosvitogf119(1 A A 1533205 (2169227 239|250
<o o0 dorzjon]ose|odsirool i) 12d )13 LL 48 D2oo| 212|224 (236(248]300
v ci1zloos|oaktos|103f{116| 120 141'\"91207 219|232 245247310
= 64010135027 1040 0531107]120(133 1472007213 1227 240 | 253 |30V (3 20
E voolorsloos|osz|ose|1i0|12eb 138142208 (220 234)24843021316)330
5 72wlowslozloadsjosoll13;123 143157122227 i241 25633 )325(2340
e 1401015 ga1|ods|i01§117]|132| 147|203 2181232491304 (31933530
E gos|ots|o32to4Rb104(120(130 152|208 2i240| 2588312 3129|3444 00
S a20[0171033j050{107)1 23 L4157 | 2137236 247:303:320|33713353 410
g B4p|0l7 oaslosz|rootlor]|ids| 201|210 (238 283 (311 3283451403420
Z 4000018303005 1211307148 206|204} 242]30012181330(354[412]1430
To90]019(037 g5a|13a[1331152] 211 20024 |307 (32534343 |428]440
5 94p |o19]035|caB 127137 (156215 295|254 (313 [333|352{411 43148
1000 |020}040]1001120[140(200 290 (240]30013201340;400 42014400500
12050203041 |102)123| 1430204 posla4s|30n|a2riadTidng 42974491510
104010204043 | 10412539147 aop| 290|251 |2312|333|355 416 437|450 820

Correction to height

Fo. | .| Fu.j Fe | ¥t | FL Fol Ft | FL Y Py FuLo| FL a3 It Fi. Y F1.
o.51oc|00loo]|ooi0o]0D] Gi ot 1] etf o] 021 0.2y 0.2] 0.2
ooloolooloolor]ort al| 028 o2l 0.2] 0.3 0.31 0.4] 0.4] 0.5
1.5MFoloc|oo|nitol]ot| c2) 0.2 (0304 c4] 0.5 06} 0¥} 0.3
oolooioolorjor|ez] 03] &3 |0t ¢5F 06| 0.7} 0.8] 0.9 LO
»slooloolos|orjo2{ea] 03| 0.4] 0.5, & 07| 0.9] LO| 11| L2
soloclooele1rlor|a2(0ld| 04 0.5| 46| 085 0.9 L0} 1.2 1.371 L5
sslookce|or|az2]|a2|03] 04| 0.6} 0.7 09| 10| 2] L4| L&| L8
voloolocio:|o2ioafo4]| 0.5) 07| 08} LO .27 1.4 L6| LB 20
is5loo0loolo1y0.2]0.3]|0.4( BB 0.7] 9.9 L1 1.2 L6l 1.8 2.0{ 2.2
sod{oojot|cifoz2]|os|0s]| 0.6] 0.8} LO L2 LB LT 2G| 22] 26
s.5loo]orjorlo2{n4]0s]| 0.4 0.9 Lttt L4 16 L. 221 2571 2.8
golootoilotjoalcs|oe| 081 10| L2] L3I L] 20 24 27| 2.0
gs|oojor|o2|03|04[06] 0.8 Lit 1.3 1.6] nL9f 22; 26| 29 "y

s LOJOOJDI a2losz|osjory ol L2¢ L4 1.8] 2.1 2.4y 284 3.1 3.5
€ 1.5(00[G1|02703 05 07| Lol rejus| re| 22| 28] 3.0 3.4] 3.8
Z goloolorlce2|oz|ostos| Lo L3 1.6 20| 2.4) 281 3.2y 36| 4.0
2 8500010620408 0.8 L1} nd4] LE| 21 25| 28] 3.4 L8] 4.2
'; g.ojooloL(nz2(0o4j08(00 L2i L5 L9 22] 271 3.1 A6 40| 45
g 9.5}00[01 c.2|04]0.6109] L2 L6 20| 24| 28§ 3.3] 48 431 4.8
c 10.0100[01[02¢04 o7lnol 3| L7l at] 25) 3.0 35| 40| 45| 5.0
75‘. 1wsleoloetloalos]oz|roy vaf L7 22] 26 3.8} 381 4.2)] 4.7} &2
2aejocfor]ostesior)hl L4l L8] 23| 28} 3.3] 3&B| 44} 49| 55
Z i.sjootot 0305|081y i .07 24 26| 3.4 40} 46 &1} 58
w 13,0 colet1losfes|ogfnt] L&Y 28] 23 300 6L 41 4.8 547 6.0
S 1zs300(01]03}0.5;08(12 L.a] 21| 28] 3.1} 37 43| 5901 56] 6.2
= 1iof{oc{oi|oalon|0eyl2| L7 220 27] 32| 3¢ 45y 51) 58) 8.5
isloololioalontog (i3 L7 22] 28| 3.4} 40l 47) 52| 60| &8
woloojozloalos|oelra) La] 23] 29} &6 42| 481 55| 63| 1.0
tesloolo2josloc)lofld] L9 241 30| 36| 431 50| 57| 6.5 7.2
B.ofo0lo2]|os|o6)L0fL4f 1.9 25| 3t 38| 447 527 5.9 6.7 1.5
15510010 2)0.4|0.7]10]LS 2.0 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1sotoolo2]{major|tL|Ls| 21 257 33| 0] 47§ 551 63| 7.2| &0
5.5]00502|04|0DT7FLLfREL 2E 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA 298 wat 35 42| 50| 50 67 7.6] &35
17.5jco|Gzjo4l08 (12|07 22 2671 36| 44| 5.2) 6.0 6.9 7.8 8.8
wofooiez|o4fosfrelir| 23| 30) 27 45| 53] 6.2} T.1] &1 €O
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 48 651 64| 7.3 8.3 9.2
poloifo2les5(08(L3 1.1 24V 3.1 30| 48| 5.6 6.6} 7.5 &% 0,5
vsjotloz|{as|os|L3]|Ly]| 25| 82 4L,0| 49| 58| 6.7] .7 87| 0.8
wn|otfoz|os|09rL3fLsl 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
after the time for which the height i3 required. The differcnce between the times of oceurrence of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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table3_1469

TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water

Aol omiamlh m.!h.m.h‘m.h. mlh mlhm | m b b m b m bl m Lk om
s0olooa|oelo2e]as2 0401 G481 0 36 104|121 20|12y 136]|144b132kF200
£20]0093017102670351043 o211 100t 18 127 151 44 1583({20t7210

o 440]009)019 028|037(0475056/105] 1135 PR TO S I B L I Q- S ) B A 1§ 220
_é 5001010020l 0307040t080] 100 r10lieo|130]1d0]|150{200|210(220] 230
Z soafori|o2n]|0a2|043j053[104 Tialeosbias|Larl 157|208 21832291240
§ oit|oz|oadlossfosritiogf119(1 A 142[15372.05 2167227 (23925
2 4 00 12i024]038 | 0487100 | F12] 1 24 136 148200021202 20 236 248[3 &0
v cialos|oastiosi 1031161 120 1 41 134|207 10497 232 245247 |3 10
= 64010135027 1040 0531107]120|133 147 |2007213 1227 240 | 253 |30V (3 20
‘5-300 014|028 |042|056|110]1 2 138152268 2om|234]248§30253161330
5 72wlowslozloadsjosoll13;123 143157122227 i241 25633 )325(2340
e 1401015 ga1|ods|i01§117]|132| 147|203 2181232491304 (31933530
E gos|ots|o32to4Rb104(120(130 152|208 2i240| 2588312 3129|3444 00
S a20[0171033j050{107)1 23 L4157 | 2137236 247:303:320|33713353 410
g B4p|0l7 oaslosz|rootlor]|ids| 201|210 (238 283 (311 3283451403420
Z 4000018303005 1211307148 206|204} 242]30012181330(354[412]1430
To90]019(037 g5a|13a[1331152] 211 20024 |307 (32534343 |428]440
5 94p |o19]035|caB 127137 (156215 295|254 (313 [333|352{411 43148
woe|o20l040]1001120]|140(200 290 (240]30013201340;400 42014400500
12050203041 |102)123| 1430204 posla4s|30n|a2riadTidng 42974491510
104010204043 | 10412539147 aop| 290|251 |2312|333|355 416 437|450 820

Correction to height

Fo. | .| Fu.j Fe | ¥t | FL Fol Ft | FL Y Py FuLo| FL a3 It Fi. Y F1.
o.51oc]00loo]|ooi0o]0D] Gi ot 1] etf o1] 021 0.2y 0.2] 0.2
Lefoolon|o0h0g|0l1]0l 01| o2t 0z| 02] 0.2 0.3] 0.4 0.4] 0.5
15looloe|oo]nitol]ot| c2) 0.2( 03} 04 c4] 0.5 06} 0¥} 0.3
relooloojoolor]oi|ez| 03 3l oe| o5k 6] 07| 0.8] 0.9 LO
»slooloolos|orjo2iea] 03| 0.4] 0.5, .8 07| 0.9] LO| 11| L2
soloclooele1rlor|a2(0ld| 04 0.5| 46| 085 0.9 L0} 1.2 1.371 L5
sslookce|or|az2]|a2|03] 04| 0.6} 0.7 09| 10| 2] L4| L&| L8
voloolocio:|o2ioafo4]| 0.5) 07| 08} LO .27 1.4 L6| LB 20
¢5toolo00]o1102]0.3|04]| G.6 0.7] 9.9 L1 1.2 L6l 1.8 2.0{ 2.2
sod{oojot|cifoz2]|os|0s]| 0.6] 0.8} LO L2 LB LT 2G| 22] 26
s.5loo]orjorlo2{n4]0s]| 0.4 0.9 Lttt L4 16 L. 221 2571 2.8
golootoilotjoalcs|oe| 081 10| L2] L3I L] 20 24 27| 2.0
g5loojot]o2|ad|0d4|06f 0.8 Lit 1.3 1.6] nL9f 22; 26| 29 "y

s LOJOOJDI a2losz|osjory ol L2¢ L4 1.8] 2.1 2.4y 284 3.1 3.5
€ 1.5(00[G1|02703 05 07| Lol rejus| re| 22| 28] 3.0 3.4] 3.8
Z goloolorlce2|oz|ostos| Lo L3 1.6 20| 2.4) 281 3.2y 36| 4.0
2 8500010620408 0.8 L1} nd4] LE| 21 25| 28] 3.4 L8] 4.2
'; g.ojooloL(nz2(0o4j08(00 L2i L5 L9 22] 271 3.1 A6 40| 45
g 9.5}00[01 c.2|04]0.6109] L2 L6 20| 24| 28§ 3.3] 48 431 4.8
c 10.0100[01[02¢04 o7lnol 3| L7l at] 25) 3.0 35| 40| 45| 5.0
75‘. 1wsleojoetloalos]oz|roy vaf 1.7 22] 26 3.8} 381 4.2)] 4.7} &2
s oelo1loslestor)l| L4 LB 23| 28 38| 44) 49| 5%
: .5%00001 (037105708117 L3 1.0 240 290 3.4 4.0} 46 51} 58
0 colet1losfes|ogfrny] L&Y 28] 23 KRH 4.1 48] 647 6.0
S 1sy00(01]03}0.5;08(12 L.a] 21| 28] 3.1} 37 43| 5901 56] 62
= 1iof{oc{oi|oalon|0eyl2| L7 220 25] 32| 36| 457 51| 581 85
isloololioalontog (i3 L7 22] 28| 3.4} 40l 47) 52| 60| &8
woloojozloalos|oelra) La] 23] 29} &6 42| 481 55| 63| 1.0
tesloolo2josloc)lofld] L9 241 30| 36| 431 50| 57| 6.5 7.2
B.ofo0lo2]|os|o6)L0fL4f 1.9 25| 3t 38| 447 527 5.9 6.7 1.5
15510010 2)0.4|0.7]10]LS 2.0 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1sotoolo2]{major|tL|Ls| 21 257 33| 0] 47§ 551 63| 7.2| &0
5.5]00502|04|0DT7FLLfREL 2E 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA 298 wat 35 42| 50| 50 67 7.6] &35
17.5jco|Gzjo4l08 (12|07 22 2671 36| 44| 5.2) 6.0 6.9 7.8 8.8
wolooiez|o4losfrzlir| 23] 30 37| 43 53] 6.2 7.1 811 ©.O
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 48 651 64| 7.3 8.3 9.2
poloifo2les5(08(L3 1.1 24V 3.1 30| 48| 5.6 6.6} 7.5 &% 0,5
vsjotloz|{as|os|L3]|Ly]| 25| 82 4L,0| 49| 58| 6.7] .7 87| 0.8
wn|otfoz|os|09rL3fLsl 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
after the time for which the height i3 required. The differcnce between the times of oceurrence of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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PABLE 3.HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water

Al mih mlk m.!h.m.h‘m.h. mlh mlhm | m b m b m b m bl m b om
s0olooa|oelo2e]as2 0401 G481 0 56 104|121 20|12y 136]|14d4b1a2kF200
£20]0093017102670351043 os2|101 100t 1 a8 127 1851 44 1583({20t7210

o 440]009)019 028|037(0475056/105] 1135 PR TO I I O = L I -1 B ) B A 220
_é 5001010020l 0307040t080] 100 r0lieo|t30|1d0]|150{200|210(220] 230
Z seafor1|o21]|032|043j053 (104 Tialeosbias|LarlL57|208|218:229124D
§ si0loit|ozm(oa4l045|05V 108 110 (1311421535205 21681227 (239|280
g il 012j021|036 (048 p12{124|13sleagj200)212)1 224|236 2481300
2 20)c13[o2s|oatonoshuie) 12| 14itios| 2073 2109) 2321 248 267 ) 3140
= 01350271040 053 120|133 fL47|200t213qez2rl240| 283|307 (320
= aoefo14|os|o42(o56]|110)1 2 138152268 2on]|234]248§30253161330
5 120 losloxwlods|osmiliay12s 143157122227 i241 (25633 )325(2340
e 1401015 ga1|ods|i01i117 132|147 203 2181233 (249}1304 (31933530
E gos|ots|o32to4Rb104(120(130 152|208 |20 i240[ 2588312 37| 344|400
S a20l0171033j050{107)1 23 Leo157| 2137236 247:303:320|33713353 410
g gipfoi7loaslosz|iopi1er|idd]| 201 210|238 253 (311 |32857345 (403420
S 9000183036108 p12/170| 148208 [ 224} 24213003318 33035441242
To90]019(03 g5a|13a[1331152] 211 200242073253 43 |43 |428]440
5 9dp |o19]035|caB 127137 (156218 295|254 (313333 (3521411431 |48
1woe|o20l040]1061120]140(200 290 (240]30013201340;400 42014401 500
Ww203i0203041 (102|123 1434204 pos|la4s|30n]a27iad4Tidng 479744971510
104010204043 | 1041259147 aop| 2920|251 |2312|333]355 (416 437|450 820

Correction to height

Fe. | Ft. | Fe.y Fu. | Fi | FL. Foy Fu| PV Py FuLo| FL g It Fi. Y F1.
o.51loc|00loc]|ooioo]0D] Gi ot 1] etf o] 02 0.2y 0.2] 0.2
Letoolon|o0hog|G1]0l 0.1 o2t 02| 0.2] 0.3 03] 0.4 0.4 0.5
1.5]00l0c|oo|ntiol]0.:] G2 .2 03 04] G4 0.5 C6f 071 0.3
ralooloojoolor]ot|eaz| 03 3l oe| o5k 6] 07| 0.8] 0.9 LO
veloofooloi|or}j0.2l02] 03 0.4l 08| 6gl o¥] 09| LO| L1| L2
soloclooelelrlor|o2(0ld| 04 0.5| 46| 0,87 0.9 1.0 1.E 1.3 1.5
s.51oo0fcoor|a2]|02|03] 0.4 0.6% 0.7] 69| o n2] L4 L6 18
tolooloclor|o2r03i0.4] 0.5 05|l as} o] L2y 14| 16| LB| 20
¢5to0o0l00]0110.2]0.3|04]| G.6 0.7] 9.9 1.1 1.2 1.6 1.8 2.0( 2.2
sofooiot|0i]|e2]03]|0.5] 0.6 0.8 Lol n2) L8| LT 2G) 22| b
poelotiovbozlestlos| 0.3 0.9 L1 1.4 16 L. 221 2571 2.8
Ceoyootoi|otfoaffochos| o8f 1o| 12 Lol 18| 21} 24) 27/ 89
1 0070102030061 O.B Lit 1.3 161 rL9f 22; 26| 29 9.2

s LOJOOIDI 62193]0570.75 0.9 12§ L4 L8] 2.1 247 287 3.1 35
v L8100tG1 o.21c3l0s5|o7| Lol L2j L&] LS 22| 28] 3.9 3.4| 3.8
Z goloolorlce2|o2|ostos| Lo L3 1.6 20| 2.4 281 3.2y 36| 40
2 s5j00(0L}02l0.41086 0.6 1} nd4] LB| 21 25| 28] 3.4 LB 4.2
'; g.ojooloL(nz2(0o4jCa (00 L2i L5 L9% 22] 271 3.1 A6l 40| 45
g 9.5}00(01 0.2(04]0.6;0.9 1.2 L6 20| 24| 2.8 3.3] 48 431 4.8
o 100 ooloi]o2te4lor]l0] L3| L7} 20 25 3.0 3.8 40| 4.5 50
75: 1w.5]aojeiiodjos|or| Lol L3 1.7 221 26| 3.8} 3.8% 4.2| 47| 6.2
2oaejoc(or]o3tesior)hl La| 81 23| 28} 3.3] 3B| 44} 49| 55
: im.sjoolor|o3josjos|11y L 1.0 24 26| 3.4 4.0} 46 &1} 58
w 13,0 colet1losfes|ogfny] L&Y 28| 23 300 6L 41 4.8 547 6.0
S 125100 ([01][0.350.5 g2} Lo 21| 26| 3.1 37 43 591 58] 6.2
= 1o0{ocloi|o3lon|0eyl2| L7 220 25] 32| 36| 457 51| 581 85
isloololioalontog (i3 L7 22] 28| 3.4} 40l 47) 52| 60| &8
1.0100]02|03]0o6|00frd] L8 23| 291l 3.5] 42| 487 58| 83| 1.0
tisloolo2josloc)LofLd] L9 241 30| 36| 43! 50| 57| 6.5 7.2
15,00100[0.2]0<¢]06)10]1.4 1.9 25| 3.1 58| 44§ 521 &9] 67 7.6
15.5]00]02)0.4|0.7]10]LS 2.0f 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1s0foo0|o2]najor|rL|Ls| 21 2957 23| 0] 47§ 551 63| 7.2| &0
5.5)o00502|04|0D7kLLfREL 2 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA g9t wat 35 42| 50| 50 6.7 7.6] &5
17.5jco|Gzjo4l08 (12|07 22 267 36| 44| 5.2) 60 6.9 7.8 8.8
soloojez|o4fosfrz|ar| 23| s0far] 45| 83f 62} 7.1} 81] 0.0
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a.8) 48 651 64| 7.3 8.3 9.2
poloifo2les5l08L3 1.8] 24V 31| 30| 48| 56] 6.6| 7.5 &4& 0.5
19,5106 10.2|05]08] L3 9] 25| 321 40| 49| 58] 67| 7.7| 87| 0.8
wn|otfoz|os|09L3fLSL 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom. the predictlons the bigh water and low water, oze of which s before and the other
after the time for which the hetght i3 required. The difference between the times of oceurrencs of
thesa tides is the duration of rise ot fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. ’ )

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horizontal line Gnd the time (romn the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the penrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
Ao By m.h,m.h,m.!h.m.h‘m.h. mlh mlhm | m b m b m b m bl m b om
s0olooa|oelo2e]as2 0401 G481 0 56 104|121 20|12y 136]|14d4b1a2kF200
£20]0093017102670351043 os2|101 100t 1 a8 127 1851 44 1837120t71210
o 440]009)019 028|037(0475056/105] 1135 PR TO I I O = L I -1 B ) B A 220
_é 5001010020l 0307040t080] 100 r0lieo|t30|1d0]|150{200|210(220] 230
E sq20ort|o2rjos2|043jos3[104 Tialeosbias|LarlL57|208|218:229124D
§ si0|oit|oz3|0a4t045|0571108 119|131 11421537205 )216812727 239|280
b3 012j071j035|048;100| 112 12|13l r4g]200|212]22 248300
w(6209013|1025(0238 osifrosfri6{1 20| 14151342407 219 2322450 2467|310
ok C13i027{040(0533107 220 133]147)2002131227([240 107|320
‘5-300 014|028 |042|056|110]1 2 138152268 2on|234]248§30253161330
5 72wlowslozloadsjosoll13;123 143157122227 i241 25631 )325(2340
e 1401015 ga1|ods|i01i117 132|147 203 2181233 (249}1304 (31933530
E gos|ots|o32to4Rb104(120(130 152|208 |20 i240[ 2588312 3125|3444 00
S a20l0171033j050{107)1 23 Leo157| 2137236 247:303:320|33713353 410
£ B4p|Ol7 oaslosz|rooilor]|ids|201|210(238 (283 (311 3283451400420
S 9 00]|0181036|054 | E12{130)1145]208 124[242130012181330|354]4121420
To90]019(03 g5a|13a[1331152] 211 200242073253 43 |43 |428]440
5 9dp |o19]035|caB 127137 (156218 295|254 (313333 (3521411431 |48
1000 |020}040]1001120[140(200 290 (240]30013201340;400 42014400500
2050203041 |102)123| 1430204 205 | 2453073273347 404 479744971510
104010204043 | 1041259147 aop| 2920|251 |2312|333]355 (416 437|450 820
Correction to height
Fo. | .| Fu.j Fe | ¥t | FL Foy Fu| PV Py FuLo| FL 1, It Fi. Y F1.
o.51loc|00loc]|ooioo]0D] Gi ot 1] etf o] 02 0.2y 0.2] 0.2
Letoolon|o0hog|G1]0l 01| o2t 0z| 02] 0.2 03] 0.4 0.4 0.5
15looloe|oo]nitol]ot| C2) 0.2( 03} 04 cd4] 0.5 06} Q¥ 0.3
ralooloojoolor]ot|eaz| 03 0,30 04| o5t 06| 07| 087 0.9 LO
»slooloolos|orjo2{ea] 03] 0.4] 05; G8 07| 0.9] LO| 11| L2
soloclooelelrlor|o2(0ld| 04 0.5] 6.6 08§ 0.9 .0} 1.2 1.371 L5
sslookoe|or|az]|o2|03] 04| 0.6} 0.7 09| 10| 1L2] L4| L&| L8
voloolocio:|o2ioafo4]| 0.5) 07| 08} LD 1.2§ L4] 16| LB| 20
i5lo00loo0|o1y0.2]03]|0.4( BB 0.7 0.9 L1 1.2 L&l 1.8 2.0( 2.2
sod{oojot|cifo2]|03|03]| 0.6] 0.8} LO L2 LB LT 2G| 22] 26
s.5loo]orjorlo2{o4]os]| 0.4 0.9 bt L4 e Le] 22) 257 2.8
golootoilotjoalcs|os| 081 10| L2] L3 L] 20 2¢( 27| 2.0
gs|oojot|o2|a3|04[06] 0.8 Lit 1.3 161 rL9f 22; 26| 29 9.2
s LOJOOIDI a2losz|osjory ol 12¢ L4 L8] 2.1 2.4y 284 3.1 15
€ 1.5(00[6G1]|02703 05 07| Lol rejus| re| 22| 28] 3.0 3.4] 3.8
2 soloolorle2|os|ostos| Lol 13| 16| 20| 24 283 3.2) 3.6} 4.0
2 ssfooloticzlod|aos|os| L1} 14} 18| 21} 25| 298] 3.4/ 387 4.2
'; g.ojooloL(nz2(0o4jCa (00 L2i L5 L9% 22] 271 3.1 A6l 40| 45
& gl oolotrje2|(ce]0670.9] L2 LE 2.0 24 283 3.3 28] 437 4.8
g- ooloiloz2ic4lor)nol va| Lyl 2] 258) 8.0 3.80 4.0 4.5 5.0
= w¥(colorosfos]or Loy 13y T 22] 26| di; 38 WZ| 47 a2
2oaejoc(or]o3tesior)hl L4l 81 23| 28} 3.3] 38| 44} 49| 55
: i.sjootot|o3]0sj0g]L1y i 1.0 241 29| 3.4] 40} 46 51} 58
w 13,0 colet1losfes|ogfny] L&Y 28| 23 30| 6L 41)] 48] 547 6.0
S 12s5300(01]03}0.5.08(12 .a] 21| 26] 3.1} 37 43| 5901 56] 6.2
= 1o0{ocloi|o3lon|0eyl2| L7 220 27] 32| 3¢ 45y 51 58) 8.5
isloelotiesioatog i3 L7 22] 28| 3.4} 40l 47) 52| 60| &8
woloojozloajos|oelra) L8] 23| 29} &6 42| 481 55| 63| 1.0
tisloolo2josloc)LofLd] L9 241 30| 36| 43! 50| 57| 6.5 7.2
Bofooloe|os]oslnoll4f Le| 25| 3.1 58] 44 521 59| 6.7) 1.5
15.5]00]02)0.4|0.7]10]LS 2.0f 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1s0foo0|o2]najor|rL|Ls| 21 2957 23| 0] 47§ 551 63| 7.2| &0
5.5)o00502|04|0D7kLLfREL 2 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA g9t wat 35 42| 50| 50 6.7 7.6] &5
17.5jco|Gzjo4l08 (12|07 22 261 36| 44| 52) 60) 6.5] 7.8| 8.8
wolooiez|o4losfrzlir| 23| 30) 37| 43 53| 6.2} 7.1 &1 €0
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a.8) 48 651 64| 7.3 8.3 9.2
poloifo2les5l08L3 1.1 2.4V 31| 3.0| 48| 5.6 6.6} 7.5 8% 0.5
s{otloz({as]os|L3]|Ly]| 25| 82 4L,0| 49| 58| 67| .7 87| 0.8
wn|otfoz|os|09L3fLSL 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom. the predictlons the bigh water and low water, oze of which s before and the other
alter the time for which the height is required. The differcace between the times of oceurrenes of
thesa tides is the duration of rise ot fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. ’ )

Enter the table with tif duration of rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horizontal line Gnd the time (romn the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the penrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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TABLE 3.—HFIGHT OF TIDE AT ANY TIME 239
Tima from the nearest high water or low water
k. m. H.ﬁ.h,m.h,m.!h.m.h‘m.h. mlh mlhm | m b m b m b m bl m b om
v looslorsloas)aselosolomijosejroq| iz 1201213614401 52¢200
taloodtorrionsiossinezlos2| 101|108} 118 12rj185]1443153)308)210
o 440]o03|019[028]037|{047§056( 1051 1571243233 1401521200 | 211 (220
‘g‘ s00)otetooolosslosetomfroojriot120|130] 1401 504200)210( 220|230
€ Swoloitjonnlo32|oaajosafros| 15| 125126 147157 (208[219;397240
8 0iL{02 o45los7llog| 119l 1311421537205 2169227|239 (250
eBooPorzionoss)ods oo iz 12]13s| 200|212 22| 236(248[300
@ c13|025 ostlros|riel 1 |1artaasfzorjzie|232]|245)267 310
= 640 |C131027{040|0533107 120|133} 1472003213 1227}240 2s3|aov|az
Z voolorslos|osz|ose|1i0|12eb 138142208 (220 234124843021316)330
s Jeobloislozlossfosoliiafros|1aaf1s7y2izf2ariaar|23alailf325)340
@ 740]015(031|046[1017117]132[147 20 2181233 (2490304 (319(335;3%
T 808]01r|032{048}101|1201136) 1521208 2o loag| 2312328 344|400
5 32010171033j050{107| 123N 140] 157 |2132301247:3033320[30733383]410
g B40]o17|035(052)1 0% 127 i4al201 219 (238|283 |31 |3 283345]403¢420
2 gop]omjosnjosiliizf130|148f 206|224} 2423300}3 18 330|354 412]430
£ oga0flo19|oorosA|1is|1331152] 211229 248) 807 195 344|403 420)440
£ 940 [019]030 088 )117)137 1562151235 | 254|313 333 |352{41L (431|480
woololosirootioo|tan|200l220(240]30013201340;400)420;4404500
w20 to20i04 102128 f1431205225{ 245|300 3277347} 4081429]144979510
o40]o2ifo43|104|125{147}208|229| 250 |312|333|355|416}437[450]520
Correction to height
F. | Fu.| Fe l e |k | Fo el P | ROl et B | FU e | B | FLY R
ai] 0.010.0 Lol c0fo0]oo| B3y ol olf 0L} 01)02] 023 02) 0.2
@ golootoowoo|cifort a1| 02 62| 02 0.df 087 041 041 0.5
Aooloceenilor|os| cej oz| 63y cd] 64 0.5] 064 0.7 0.3
reloolooioclotjoy|ea| 03] 03] 04| ¢85t 06) 0.7f 0.8] 0.9} L0
sslooloolot|orjo2lo2] 0al 04| 0s| 66| or| 09) LO| L1} 1.2
solocloolerioijo2|os| aa] 05| 66| 08} 09| L0, 1.2] L3] L5
sslootoc|o|az|az|as] o4 e6f 07| 08| nO| L2) 14| L6} 18
volooloctor|o2i0sio4| 0.5) 0.7 08f 10| 123 L4} L6) L8} 20
rsloolooleifez]ealed| o6f 07| o] L1 1.3} L6l 187 20} 22
sofoojot|oi|e2|os|os| 08| 0.8} Lo| L2} L5 LT 20| 22 25
s5looloriortoz]oalos| ozl oo] Lit L4 16} L[ 220 257 2.8
goloeloi|otjoalcda|os]| c8f 1o L2] L5| L8[ 2.0 2¢) 27] &9
eslooioi|oz|as|odlos) o8| Li: 13| L) Lo} 225 28] 29 f3.2
. toleelotlezles|osjorf agl 12t Lay L8 2.1 2,41 2.8 31| 15
£ 15{00[01(02703[05(07[ 0] L2} LS Le| 22| 2.8] 3.0 3.4] 3.8
€ so0loolerlee|oz|ostos]| vo| 13| 16| 20| 24} 281 3.2y 3.6 4.0
2 ssfooloticzlod|aos|os| L1} 14} 18| 21} 25| 20) 3.4/ 387 4.2
S sojeojfoi|nz2|o4joe|00t L2y LI Lot 22| 27t 3.1l 28l 40| 4.5
¢ asloolorjez|cefosjog| L2y L6] 20| 241 2.8 3.3] 38 437 4.8
o mwofoolorjoziedler)lof L3 L7 21| 251 3.0 35| 40 45| 50
Z wsfeojoilodfosforiLo) LA 1.7] 221 26| 3.1| 3.8% 4.2] 47} 52
2 qoloe|orfosfasloryut| Lef Lal 23] 283 3.3] 38/ 441 4.9] 53
S 1.5]c0l01]03]0570811 1y| 1ot 24) 29| 34| 40} 46| 51| 58
$ moloo|erles|es|odlli| Ly 20} 2.8 30! a6t £1] 4.8 547 60
Z stco|or]ostaslos|rzy Lef 21l 26f31) 871 43 50! 561 6.2
= upoloolei|oalos]oefne]| 1il a2 2i] 32| 39 459 &1 581 6.5
gsloeloitoalantos|us]| tr| 22| 28] 345 40} 47 53( 60] &8
iwolooloz]oafos|eolra) 1ay 23| 20} 35] 42 48) 35| 63} 7.0
tslooloz2iosloslro]nd] 1.9 24 3.0] 38| 43} 50| 57f 650 7.2
Boloo|oz|oe|oslollaf 19| 25 31| 58] 4] 827 89] &7} 1.5
1s|oojozloslos|rofrLs] 20f 2633239} 48| 541 81| 6.0/ 7.8
Botooloziaalor|ui|Ls| 21| 28) 23| 40f 47§ 554 6.3[ 7.2/ &0
wsloofoz]|os|ortnrtug) 2t 27| 34 41) 49| 571 6.5f 74| 82
moloolezlosjos|nabel 22§ 28§ 35) 42] 50| 80/ 67] 7.6) 85
asfoolozlodlos|rz|r] 22 26 36| 44| 52] 6.0f 6.9] 7.8] 28
woloofez|odlosfre|nr| 23] 80 arf 45| 83 62} 7.1} &11 0.0
wsloiloz|os|as{rzlrs 24 3.1 ag| 46} 65] 64| T.3| 83 6.2
woloi|o2les|os|na|1sg| 24 a1f 30| 48 56) 6.6) 7.5) 85} 0.3
wifjotloz|esjos|L3|Lg| 25| 327 40| 481 53| 67 7.7| &7 0.8
oo |otfoz|as|ootnalusl 26) 33| 1) 50 86| 6.9] 7.9 901100

agrees with ths actual value. and on that horitontal line fnd the tirae (rotn the nearast high or low

in tbe columz directly below, on the jine with t

Obtain from the predictlons the bigh water and low water, one of which Is before and the other
glter the time for which the height is required. The difference between the times of occurrencs of
these tides is the guzation of rise or fall, and the diflerence between their heights is the raage of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. ’ :

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly

watar which agrees most neacly with the corresgon.dlng getunl difference. The correction sought is
e range of tide.

When the penrest tide is high water, subtract the correction.

When the nearest tide [3 low water, add the correction.
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TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water

h.om Wb mih mb. 'm.!h. ah ool s mlbom|hm b [hom b om Al h m Lk m
+00|ooa|oelo2s]os2 040004810 56 104 t12(2120 128|123 144}132F200
£20]005{017]026j0358043|052] 101 100! 1i8(12ri135) 144118531208 7210

o 440]009)019 028/037{0474036| 1051157124 131431222122
= so007010:020t030q040t00][100| 1 10 1201401501200 |210)220)230
S swlor|o2njo32|0d3|0s3|104) 113 125 1| L4l LS 2082193229 124D

§ ﬁ oitloz|oadlossfosvitiogf1 1913 142|1537205|21689227 (239
2 g 00 '012 021]036|048;100(112) 1 24 (136 142002121224 236 248@
w ci1z3loos|oaktos|103{116) 1 2611 41 1342071219 232245247
= 64010135027 (040|0453 1071120133 1472005213227 (240 zay|3or|3
S 1o00loe]oos|o42|056({110(2 245133 i52 265 2on|234]248§30253161330
5 72wlowslozloadsjosoll13;123 143157122227 i241 (25633 )325(2340
¢ 7401015(|031 od6|1o18117|132| 147|205 |218)20 749|304 (319)335)3%
E gos|ots|o32to4Rb104(120(130 152208022240 | 2568|3123 28344400
5 22000173033 ]050(107) 123 140]1 57 3131230{247823033320|3871353[410
g gapfor7]oasiosz|roa 127144200 210 (238 (253|311 |3 285345 | 403¢420
S 9030183020084 112 120l148f 206|224} 24273001 2181330)354 4121430
T g20]019|03i[03A|1]d 1335221220248 ]307 3253 H 40342t )440
5 9dp |oio|oae|caB]|217 13T (156|218 235254 (3123333527411 431 (48
woelozlossjro0ti20(140|200)220 2400300132013 40;400(420;4401500
1020350203041 |102]123[14312087225} 2458 30732773473 403 (42974497510
104010204043 | 1041259147 aop| 2920|251 |2312|333]355 (416 437450520
Correction to height

Fi. | Fu.| Foy Fu | Fi | Fu | FL Fe. | Fi. } Pt Ft. | FL 1, It Fi. Y F1.
o.5]ocloolee]oo0joof00]| B3 ot 1] etf o] 02 0.2y 0.2] 0.2
Lodonloo|ooloofar]|0ls Ql 0.2 02| 02] 03] 03] 0.4 G4 0.5
1.5loooc(oo|nitor]joy] &2 .2 03 04] G4 0.5 C6f 071 0.3
seloofloofeolotjor|az]| 03 0,30 04| o5t 06| 07| 087 0.9 LO
o0loolot]|orfo2lo2] 03] 0.4 0.5 g6l o7 09 LO| 1| 12

10 '0.0 pole1l01]02(03]| 0.4] 0.5 66| 08§ 0.9 .0 1,21 L3015

s 00f00|0!]|02]|02|03] 0.4 0.6% 0.7] 6.9] Lo n2] L4 L6 [™wd
tolooloclor|o2r03i0.4] 0.5 07| ast vo]| L2y L4| LE6| LB| 20
i5lo00loo0|o1y0.2]03]|0.4( BB 0.7] 9] L1 1.3 .61 1,8 20{ 2.2
sofooiot|oi]|e2]03]|0.5] 0.6 0.8 Lol n2) L8| LT 2G) 22| b
s.5loo]orjorlo2{o4]os]| 0.4 0.9 L1t 14| Léj Le| 221 2571 28
golootoilot]oa c4|o6] 0B 1.0 2] L5 L8| 21 24 27| 2.9
ssloojoiloz|as|0d4|06] 08 LI 13| 161 19} 22f 26| 29/[°3.2

s LOJOOIDI a2l03]05707% 0.9% L2¢ L4 L8] 2.1 2.4y 284 3.1 15

v L8100tG1 0290310507 Lo L2f L3]| LS 2.2 2.6] 30| 3.4] 3.8
E solooflerle2|ozf{osios| o] 13 1.6 20| 2.4 281 3.2y 36| 40
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Obtain [rorn the predictlons the bigh water and low water, oze of which s before and the other
alter the time for which the height is required. The differcace between the times of oceurrenes of
thesa tides is the duzation of rise or fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is requiced. . ;

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horitontal line find tha time (romn the nearest high or low
watar which agrees most neacly with the corresgon.dlng sctunl difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nearest tide is high water, subtract the corrsction.

When the nearest tide is low water, add tha correction.
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TABLE 3.~——HEIGHT OF TIDE AT ANY TIME 239
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Obtain [rom. the predictlons the bigh water and low water, oze of which s before and the other
alter the time for which the height is required. The differcace between the times of oceurrenes of
thesa tides is the duration of rise ot fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. ’ )

Enter the table with tif duration of rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horizontal line Gnd the time (romn the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the penrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.




TRAINING FOR MARINERS 1~

Page 15

table3 507

TABLE 3.~——HEIGHT OF TIDE AT ANY TIME 239

Tima {rom the nearest high water or low water
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Correction to height
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Obtain [rom. the predictlons the bigh water and low water, oze of which s before and the other
alter the time for which the height is required. The differcace between the times of oceurrenes of
thesa tides is the duration of rise ot fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. ’ )

Enter the table with tif duration of rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horizontal line Gnd the time (romn the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the penrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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PABLE 3.HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
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wolociez|odloslre|nr| 23| 80| a7| 45| 83| 6.2} 7.1} 8&1] &0
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a.8) 48 651 64| 7.3 8.3 9.2
poloifo2les5l08L3 1.8] 24V 31| 30| 48| 56] 6.6| 7.5 &4& 0.5
19,5106 10.2|05]08] L3 9] 25| 321 40| 49| 58] 67| 7.7| 87| 0.8
wn|otfoz|os|09L3fLSL 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom. the predictlons the bigh water and low water, oze of which s before and the other
alter the time for which the height is required. The differcace between the times of oceurrenes of
thesa tides is the duration of rise ot fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. ’ )

Enter the table with tif duration of rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horizontal line Gnd the time (romn the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the penrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Time {rom the nearest high water or low water
h.om b mih mlk. 'm.!h. ahoal s mlbom |hm b [ bom b om Aol h m Lk m
so0looa|016lo2a]052 0401048105671 04 p12(120 128|123 144} 132F200
£20]005i017]026(0358043|052] 101 100l 18(12ri135) 144118531208 7210
o 440]009)019 028/037{0471036| 105 |1 157%24 1331431222122
Z s00Q010i020]0301040t080]100| 1t 10 120130 ]140]150{200(210]220]230
= gli|o21)032(043j053 104A125 13| L4l 157 |208]21832291240
§ 540 p0iL|0z3 0a4ta45 (0571081 191 31 1421537205 (21689227 (239 (2%
2 012j024[036|0487100 Il?ﬁﬂ(l% pagjzoof 21222 (236(248]13 00
2 g20]c13|o25|0aRI05 105|116 129141 1542071219 2322452477310
= E4010135027(040|0453 1071120133 1472005213227 (240 z83|3Qr|3
S a1o00loe]oos|o42|056{110(2 2451 33 ih2|265]|220|234)248§30213161330
5 120103510200 044j05011137198 143157122227 i241 25633 )325(2340
¢ 7401015(|031 od6|io1f117|132| 147|205 |218)20 0491304 |319]335,;35
E 808 |0t5|0327048}1104|120| 130 152208022240 256 |3 122328344400
5 22000173033 ]050(107) 123 1407157 2131230124783 03;320 (34713531410
g g4njor7]oaslosz| 0o 127 |idde| 201210 236 (253311 |32857345 (4033420
S og03]0183020|084112 120l148f 206|224} 242;300123183330)354 412|430
T 920]019|037[03A|1]d 13al1s2]21t 2202403073253 H 40342440
5 9dp |oio|oae|oas]|217 (137 (156]218 235254312333 3527411 431 (48
1wos]o2elo40{1001120[140(200) 220 240]300123201340;400(42074401500
102030203041 |102]123[1431208]5225} 2438 307|327 3478403 [429]4497510
1w40]020§043|104|125{147§208 son|251 212333355 4165437450820
Correction to height
F. | Fu.| Foy Fu | Fi | Fu | FL Fe. | Fu. } F. % Fu | Ft. | Fi | ft Fi ) Fl.
p.5]cclooleo]o0j0of00]| B3 o1l 1] el o1l 02 023 0.2 0.2
Lodonloo|ooloof(ar]0ls Ql 0.2 02| 02] 03] 03] 0.4 G4 0.5
tslooloc|oo|nitoryos| &2} 0.2 037 04 G493 0.5 €6} 071 0.3
seloofloojoolot|jor|az]| 03 0,30 04| o5t 06| 07| 087 0.9 LO
rilooloe|os|orio2io2] 03] 0.4] 035 66| 07| 0.9] LO| 11| L2
1olocloolorlor]o2|03]| 04| 0.3 66| 08§ 09] L0} 1.2] L3 LS
ssloofcofoL|ez|oz(0d] 0.4 C.6 0.7 0.9] 0| L2] L4| L6| L8
tolooloctor|m2i03f0.4| 0.5 &7 o8f o n2y L4 16| LB| 20
L5looloo]oryoz]od|ed| 068 07 00l 1| 3] 6| 1.8} 200 2.2
soloolot|loi|oz|os|0os] 0.8] 0.8 Lol 2] L5 LT] 2G| 22| 2.5
poelotiovboz|oalos Lt 0.9 L1 L4 1.6 Lg] 221 257 2.8
goPootoifotjoaios|aed 0.8% 10| L2} 18] L8| 21y 241 27 3.0
e 0,010 1]02[03[0.4]06 e LI 3| 161 L9} 22 26| 29[ 32
s lOJOO]OD1[02 nalosiotl ool n2f L4t L8} 21 2.4y 2897 31) 15
= 15(0¢06.1]02 gatos|oz| to| Lej L5 Le]| 22 2.8 39| 3.4 3.8
£ sol|looflerle2|ozf{osios| o] 13 1.6 20| 24) 281 3.2y 38| 4.0
g ss5joo|otjozlodlae|0s Lil 14 18| 21} 25| 2o 34| 3.8] 4.2
5 90160301 n2|o4jesf0og 12] 15| LY 22| 27 .11 L6 40 4.8
& 950001 j02(04 oeloal| o] L6 20| 24| 285 3.3] 481 437 4.8
g 100100101 ooto4lor)rol 13| Lyl 2] 25) 3.0 3.8 40 4.5 4.0
< nsleolotloalosjer o] vaj n7| 22] 26| 3.1} 363 42] 47| &2
Z un|oe|orfostestorynl| L4 L& 23| 284 3.3 48] &4 +9] 535

: m.sfoolot|o3jasjos|r1y Li| L9 244 29| 34| 40} 45| 51| 58

w 13,0 golerloz|es|{oslri| L&y 28| 235 30| 36 41)] 48] 547 6.0

S 15100 (01][0.350.5 cB8lrel La| 21 26| 3.1 37] 43| 501 58] 6.2

= 1i3.0f{ocjei|o3jon|0eyl2| L7 2.2 27] 32| 39| 453 51| 581%F 85
wsloelotiesiostos 13| L7 29| 28] 3.4} 40l 47] 52| 60 &8
uoloocjoz|oajos|calldy L8] 23 291 3.5 42| 487 85| 6.3 7.0
wsloolo2josloctilofrLd| LY 241 3.0] 36| 43! 50| 57 G.&) 7.2
wofe0(02]/04|06)L0|1.4] L8[ 25 31| 8| 444 527 5.9 67} 0.6
155]e0j02)04]07]00]L5] 20 26t 221 3.9 48| 54 81| 6.9 7.8
1.ofoolozinejoy |1 LS| 21 951 33| 40| 47 &5y 6.3 7.2| &0
#65.5]00ko2|04]orbLLiLE} 21| 27 34| 41 49| 57] 6.5 7.4 8.2
1.01celezjos07 ]| 1}LGY 22 28t 3.5 421 50| 59| 67| 7.6 &35
17.5jco|Gzjo4l08 (12|07 22 261 36| 44| 52) 60) 65| 7.8| 8.8
woloojez|o4]osfrz|ur| 23| 30| &7 45| 53] a2} 7.1 &1 €O
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 46) 651 64| 13| 83| 9.2
isoloilo2leslos| L3 |8 2.4 3.1 30| 48| 5.6 6.6) 7.6 84| 0.5
wslot|oz|es{os|na|Lo| 25| a2y 40| 49| 88| 67) 7.7| 87| 0.8
wn|otfo2|as|ootnalusl 26 33| 1) 50 86| 69] 7.9 9201100

Obtain from the predictlons the bigh water and low water, one of which Is before and the other
alter the time for which the height is required. The differcace between the times of occurrenes of
thesa tides is the duzation of rise or fall, and the difference between their heights is the range of tide
for the sbove table. Fiod the differcnce between the pesrest high or low water and the time for
which the height is required. < .

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horitontal line find the tire (romn the nearest high or low
watar which agrees most neacly with the corresgon.dlng sctual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nearest tide is high water, subtract the corrsction.

When the nearest tide is low water, add tha correction.

table3 527
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table3 537

TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
h.om. W m.h,m.h,m.!h.m.h‘m.h. mlh mlhm | m b b m b m bl m Lk om
s0olooa|oelo2e]as2 0401 G481 0 36 104|121 20|12y 136]|144b132kF200
£20]0093017102670351043 o211 100t 18 127 151 44 1583({20t7210
o 440]009)019 028|037(0475056/105] 1135 PR TO S I B L I Q- S ) B A 1§ 220
_é 5001010020l 0307040t080] 100 r10lieo|130]1d0]|150{200|210(220] 230
Z soafori|o2n]|0a2|043j053[104 Tialeosbias|Larl 157|208 21832291240
§ si0loit|ozm(oa4l045|057 108 119|131 ]142]15372051216812%27 239|250
g 012j024|038|048j100| 112 124,&-&148 00| 2122242362483 %
v 6 20 '0]3 025|038t 05 | 108|116 129‘141 1342071218232 245247 |3 10
ook Cl3t0271{040(0533107 (220 133‘1—!“200 2131227240 | 253|307 |3 20
‘5-300 014|028 |042|056|110]1 2 138152268 2om|234]248§30253161330
5 72wlowslozloadsjosoll13;123 143157122227 i241 25633 )325(2340
e 1401015 ga1|ods|i01§117]|132| 147|203 2181232491304 (31933530
E gos|ots|o32to4Rb104(120(130 152|208 2i240| 2588312 3129|3444 00
S a20[0171033j050{107)1 23 L4157 | 2137236 247:303:320|33713353 410
g B4p|0l7 oaslosz|rootlor]|ids| 201|210 (238 283 (311 3283451403420
Z 4000018303005 1211307148 206|204} 242]30012181330(354[412]1430
To90]019(037 g5a|13a[1331152] 211 20024 |307 (32534343 |428]440
5 94p |o19]035|caB 127137 (156215 295|254 (313 [333|352{411 43148
1000 |020}040]1001120[140(200 290 (240]30013201340;400 42014400500
12050203041 |102)123| 1430204 posla4s|30n|a2riadTidng 42974491510
104010204043 | 10412539147 aop| 290|251 |2312|333|355 416 437|450 820
Corrertion to height
Fo. | .| Fu.j Fe | ¥t | FL Fol Ft | FL Y Py FuLo| FL a3 It Fi. Y F1.
o.51oc]00loo]|ooi0o]0D] Gi ot 1] etf o1] 021 0.2y 0.2] 0.2
Lefoolon|o0h0g|0l1]0l 01| o2t 0z| 02] 0.2 0.3] 0.4 0.4] 0.5
15looloe|oo]nitol]ot| c2) 0.2( 03} 04 c4] 0.5 06} 0¥} 0.3
oglooioolor]ot|ez] 0.3 [-02] 0.4 ¢5F 06| 0.7} 0.8] 0.9 LO
2590.010.0 (01 0.1f0.2(02] 030 0.4ﬁr 05| 6] 07| 09] LO| L1| 12
o.oloolello1]02|03| 0.4 Us| 66 085 0.9 L0} 1.2 1.371 L5
sslookce|or|az2|a2|03] 04| 0.6% 0.7 09| 10| 2] L4| L&| L8
voloolocio:|o2ioafo4]| 0.5) 07| 08} LO .27 1.4 L6| LB 20
¢5toolo00]o1102]0.3|04]| G.6 0.7] 9.9 L1 1.2 L6l 1.8 2.0{ 2.2
sod{oojot|cifoz2]|os|0s]| 0.6] 0.8} LO L2 LB LT 2G| 22] 26
s.5loo]orjorlo2{n4]0s]| 0.4 0.9 Lttt L4 16 L. 221 2571 2.8
golootoilotjoalcs|oe| 081 10| L2] L3I L] 20 24 27| 2.0
g5loojot]o2|ad|0d4|06f 0.8 Lit 1.3 1.6] nL9f 22; 26| 29 "y
s LOJOOJDI a2losz|osjory ol L2¢ L4 1.8] 2.1 2.4y 284 3.1 3.5
€ 1.5(00[G1|02703 05 07| Lol rejus| re| 22| 28] 3.0 3.4] 3.8
Z goloolorlce2|oz|ostos| Lo L3 1.6 20| 2.4) 281 3.2y 36| 4.0
2 8500010620408 0.8 L1} nd4] LE| 21 25| 28] 3.4 L8] 4.2
'; g.ojooloL(nz2(0o4j08(00 L2i L5 L9 22] 271 3.1 A6 40| 45
g 9.5}00[01 c.2|04]0.6109] L2 L6 20| 24| 28§ 3.3] 48 431 4.8
c 10.0100[01[02¢04 o7lnol 3| L7l at] 25) 3.0 35| 40| 45| 5.0
75‘. 1wsleoloetloalos]oz|roy vaf L7 22] 26 3.8} 381 4.2)] 4.7} &2
2aejocfor]ostesior)hl L4l L8] 23| 28} 3.3] 3&B| 44} 49| 55
Z i.sjootot 0305|081y i .07 24 26| 3.4 40} 46 &1} 58
w 13,0 colet1losfes|ogfnt] L&Y 28] 23 300 6L 41 4.8 547 6.0
S 1zs300(01]03}0.5;08(12 L.a] 21| 28] 3.1} 37 43| 5901 56] 6.2
= 1iof{oc{oi|oalon|0eyl2| L7 220 25] 32| 36| 457 51| 581 85
isloololioalontog (i3 L7 22] 28| 3.4} 40l 47) 52| 60| &8
woloojozloalos|oelra) La] 23] 29} &6 42| 481 55| 63| 1.0
tesloolo2josloc)lofld] L9 241 30| 36| 431 50| 57| 6.5 7.2
B.ofo0lo2]|os|o6)L0fL4f 1.9 25| 3t 38| 447 527 5.9 6.7 1.5
15510010 2)0.4|0.7]10]LS 2.0 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1sotoolo2]{major|tL|Ls| 21 257 33| 0] 47§ 551 63| 7.2| &0
5.5]00502|04|0DT7FLLfREL 2E 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA 298 wat 35 42| 50| 50 67 7.6] &35
17.5jco|Gzjo4l08 (12|07 22 2671 36| 44| 5.2) 6.0 6.9 7.8 8.8
wolooiez|o4losfrzlir| 23] 30 37| 43 53] 6.2 7.1 811 ©.O
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 48 651 64| 7.3 8.3 9.2
poloifo2les5(08(L3 1.1 24V 3.1 30| 48| 5.6 6.6} 7.5 &% 0,5
vsjotloz|{as|os|L3]|Ly]| 25| 82 4L,0| 49| 58| 6.7] .7 87| 0.8
wn|otfoz|os|09rL3fLsl 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
alter the time for which the height is required. The differcace between the times of occurrenes of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with tif duration of rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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table3_547

TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water

Aot omih mik m.!h.m.h‘m.h. mlh mlhm | m b b m b m bl m Lk om
s0olooa|oelo2e]as2 0401 G481 0 36 104|121 20|12y 136]|144b132kF200
£20]0093017102670351043 o211 100t 18 127 151 44 1583({20t7210

o 440]009)019 028|037(0475056/105] 1135 PR TO S I B L I Q- S ) B A 1§ 220
_é 5001010020l 0307040t080] 100 r10lieo|130]1d0]|150{200|210(220] 230
Z soafori|o2n]|0a2|043j053[104 Tialeosbias|Larl 157|208 21832291240
§ sé0loit|ozm(oa4l045|057 108 110 (1311421535205 2161227 (239|280
g g00J012§024)038|048;100|F 1211 24 136l y48)200 2122242362483 %
#Ls20fci3|o2s(0asi05 104 1161201418134 24071219 (232245247310
= 4010135027 1040 0531107]120|133 1472007213 1227 24012531307 |3 20
= a0t |o14]oos|o42|056]|130(2 2 138152268 2om|234]248§30253161330
5 s loslowlodd|osmilia 123 143157122227 i241 25633 )325(2340
e 1401015 ga1|ods|i01§117]|132| 147|203 2181232491304 (31933530
E gos|ots|o32to4Rb104(120(130 152|208 2i240| 2588312 373 (344|400
S a20[0171033j050{107)1 23 L4157 | 2137236 247:303:320|33713353 410
g gipfoi7loaslosz|ioni1er|idd]| 201 210|238 2533113287345 (40342
S 9000183036108 p12/170| 148208 [ 2241 242: 3003318 330]354[412]42
To90]019(037 g5a|13a[1331152] 211 20024 |307 (32534343 |428]440
5 94p |o19]035|caB 127137 (156215 295|254 (313 [333|352{411 43148
woe|o20l040]1001120]|140(200 290 (240]30013201340;400 42014401 500
12050203041 |102)123| 1430204 posla4s|30n|a2riadTidng 42974491510
104010204043 | 10412539147 aop| 290|251 |2312|333|355 416 437|450 820

Correction to height

Fe. | Ft.| Fe.y Fu. | Fi. | FtL. Fol Ft | FL Y Py FuLo| FL a3 It Fi. Y F1.
o.51oc]00loo]|ooi0o]0D] Gi ot 1] etf o1] 021 0.2y 0.2] 0.2
Lefoolon|o0h0g|0l1]0l 01| o2t 0z| 02] 0.2 0.3] 0.4 0.4] 0.5
1.5]o0l0c|oo|ntiol]0.:] G2 .2 0.3 0.4] G4 0.5 C6f 071 0.3
relooloojoolor]oi|ez| 03 3l oe| o5k 6] 07| 0.8] 0.9 LO
veloofoolot|0r}02l02] 03 0.4l 05| 06gl o¥] 09| LO| 1| L2
soloclooele1rlor|o2(0ld| 04 0.5| 66| 085 0.9 1.0 1.2 1.3 1.5
ssloofoofor|a2]|02]|0d 0.4| 0.6: 0.7 0.9 1O |0l 14 L6 18
L &0)00]00j012 Bot0.3b0.4] 0.5] 07| 08§ O] L2 1.4 16| L8| 20
t5tooloo0]lo1102]03|04]| G.6 0.7] 9.9 L1 1.2 o 1.8 2.0{ 2.2
sofooiot|oi]|e2]03]|0.5] 0.6 0.8 Lol n2) L8| LT 2G) 22| &
s.5loo]orjorlo2{n4]0s]| 0.4 0.9 Lttt L4 16 L. 221 2571 2.8
calootoilol]osjcé|oe]| C8 1.6 L2l L] L8| 20 24 27| 2.0
g5loojot]o2|ad|0d4|06f 0.8 Lit 1.3 1.6] nL9f 22; 26| 29 "y

s LOJOOJDI 621903]0570.75 0.9 1.2¢ L4 1.8] 2.1 247 287§ 3.1 3.5
5 L8100EG1 o.21c3l0s5|o7| Lol L2f L&] LS 22| 28] 3.9 3.4] 3.8
Z goloolorlce2|oz|ostos| Lo L3 1.6 20| 2.4) 281 3.2y 36| 4.0
2 8500010620408 0.8 L1} nd4] LE| 21 25| 28] 3.4 L8] 4.2
'; g.ojooloL(nz2(0o4j08(00 L2i L5 L9 22] 271 3.1 A6 40| 45
g 9.5}00[01 0.2(04]0.6;0.9 1.2 L6 20| 24| 2.8 3.3] 38 431 4.8
o 0o ooloi]o2te4lor]lo] L3| L7 21 23 3.0 3.8 40| 4.5 50
75: w.5]oojeiiodjos|or| Lol L3 1.7 221 26| 3.5} 3.8% 42| 47} 62
2aejocfor]ostesior)hl L4l L8] 23| 28} 3.3] 3&B| 44} 49| 55
Z imsjoolor|o3josjos|1y L .07 24 26| 3.4 40} 46 &1} 58
w 13,0 colet1losfes|ogfnt] L&Y 28] 23 300 6L 41 4.8 547 6.0
S 15100 (01][0.350.5 ¢g|n2y Lo 21| 26| 3.1 3.7 43 591 5.8 6.2
= 1iof{oc{oi|oalon|0eyl2| L7 220 25] 32| 36| 457 51| 581 85
isloololioalontog (i3 L7 22] 28| 3.4} 40l 47) 52| 60| &8
14.0100]0.2|03]06|008{03] L8 23| 291l 2.5] 42| 487 58| 83| 1.0
tesloolo2josloc)lofld] L9 241 30| 36| 431 50| 57| 6.5 7.2
15,010.0[0.2]0<¢]06)1L0]1.4 1.9 25| 3.1| 58| 44§ 521 89| 67 7.6
15510010 2)0.4|0.7]10]LS 2.0 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1sotoolo2]{major|tL|Ls| 21 257 33| 0] 47§ 551 63| 7.2| &0
5.5]00502|04|0DT7FLLfREL 2E 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA 298 wat 35 42| 50| 50 67 7.6] &35
17.5jco|Gzjo4l08 (12|07 22 2671 36| 44| 5.2) 6.0 6.9 7.8 8.8
soloojez|osfos|relnr| 23| ao| a7} 45| 83 ) 62} 7.1} 81 0.0
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 48 651 64| 7.3 8.3 9.2
poloifo2les5(08(L3 1.8] 24t 31| 30| 48| 56] 6.6| 7.5 &% 0,5
19,5106 10.2|05]08] L3 9] 25| 321 40| 49| 58] 67| 7.7| 87| 0.8
wn|otfoz|os|09rL3fLsl 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
alter the time for which the height is required. The differcace between the times of occurrenes of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with tif duration of rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Time {rom the nearest high water or low water
h.om b mih mlk. 'm.!h. ahoal s mlbom |hm b [ bom b om Aol h m Lk m
+00|ooa|oelo2s]os2 040104310 56 104 t12(2120 129123 144}132F200
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§ si0|oit|oz3|0a4l045|057 1108 119|131 ]142]15372051216812%27 239|250

g goofo12j021]036|0485100| B 1211 24 136 v48j200212|220 236 248[3 %0

2 g20]c13|o25|0aRI05 105|116 129141 1542071219 2322452473130

ook 01350271040 )0533107 |2 20 1331147200213 1227 (240|253 |307 (320
5400'014 o2s|o42|056|130[21 24} 138|342 265 22| 23471248§302§3160330)
8 aislozuloadjosnli1aj128]| 143|157 gi2l2arl241| 2563132500
¢ 7401015(|031 od6|io1f117|132| 147|205 |218)20 749|304 (31933538
E gos|ots|o32to4Rb104(120(130 152208022240 256 |3 122328344400
5 22000173033 ]050(107) 123 1407157 3131230{247823033320|3871383[410
g o for7]oaslosz|L0a 127 144200 210 (238 (253|311 |3 285345 |403¢420
S og03]0183020|084112 120l148f 206|224} 242;300123183330)354 4121420
T 920]019|037[03A|1]d 13al1s2]21t 2202403073253 H 40342440
5 9dp |oio|oae|oas]|217 (137 (156]218 235254312333 3527411 431 (48
woelozelossjrootiof140|200)220 240]300123201340;400(42074401500
102030203041 |102]123[1431208]5225} 2438 307|327 3478403 [429]4497510
104010204043 | 10412539147 2082920 |25 |2312)333|355(416 437450520

Correction to height

F. | Fu.| Foy Fu | Fi | Fu | FL Fe. | Fu. } F. % Fu | Ft. | Fi | ft Fi ) Fl.
p.5]cclooleo]o0j0of00]| B3 ot 1] etf o1] 021 0.2y 0.2] 0.2
Lodonloo|ooloof(ar]0ls Ql 0.2 02| 02] 03] 03] 0.4 G4 0.5
1.5loooc|oo|nitol]joy] &2 .2 0.3 0.4] G4 0.5 C6f 071 0.3
seloofloojoolot|jor|az]| 03 0,30 04| o5t 06| 07| 087 0.9 LO
2slooloo|ot|01j0.2{0.2] 03 0.4 05| 6g]l 07| 09| 10| L1]| L2
soloclooele1rlor|a2(0ld| 04 0.5] 6.6 08§ 0.9 .0} 1,2] 1.3 L5
s.51oo0fcooL|0a2]|02|03] 0.4 0.6% 0.7] 69| Lo n2] L4 L6 18
tolooloclor|o2i03j0.4] 0.5 07| ast wo| L2y L4| LE6| LB| 20
is5loo0loolo1y0.2]0.3]|0.4( BB 0.7] 9] L1 1.3 1.6 1,8 20{ 2.2
sofooiot|oi]e2]03]|0.5] 0.6 0.8} Lol 2l L5| LT 2G| 22| 25
s.5loo]orjorlo2{n4]0s]| 0.4 0.9 L1t 14| Léj L&| 221 2571 2.8
golootoilot]oa cefo6] €3 1.0 2] L5 L8| 21 24 27| 2.9
ssloojoiloz|as|0d4|06] 08 L1 13| 1s n9f 227 26| 29/[°3.2

s LOJOOJDI a2|03]|05707% 0.9 L2¢ L4 L8] 2.1 2.4y 284 3.1 15

5 L8100EG1 0290310507 Lo L2f L3]| L9 2.2 2.6] 3.0 3.4] 3.8
= polorlae|oz|ostos]| Lol 1.3 L6| 290 241 281 32 36 | dul

sCssPoofoticzloslosfos] L1} 141 L8] 214 25 28] 3.4 3.8

S 0001 [02]|04]08]|00F L2) LI L9t 22| 27} 3.1t 36l 40

g 9.5100[01 e.2|04|06i09] L2 LE 2.0 24 28% 3.3] 381 437 4.8
o 0o ooloifozioqlor]|lo]| 13| L7} 22] 23 3.0 35| 40| 45| 50
< joslooletfoalos]or| oy Laf 17| 22] 26] 4.4 383 4.2] 47 5.2
Z un|oe|orfostestorynl| L4 L& 23| 284 3.3 48] &4 +9] 535

Z isjootot]ozfjosjos]r1y Li| LY 240 29| 34| 40} 46| 51| 58

w 13,0 colet1losfes|ogfnt] L&Y 28] 23 30| 36 41)] 48] 547 6.0

S 15100 (01][0.350.5 cB8lrel La| 21 26| 3.1 37] 43| 501 58] 6.2

= 1i3.0f{ocjei|o3jon|0eyl2| L7 220 27] 32| 3¢ 45y 51) 58) 8.5
wsloelotiesiostos 13| L7 29| 28] 3.4} 40l 47] 52| 60 &8
14.0100]0.2|03]06|008{03] L8 23| 291 3.5] 42| 48] 3.6 63| 1.0
wsloolo2josloctilofrLd| LY 241 3.0] 36| 43! 50| 57 G.&) 7.2
wofe0(02]/04|06)L0|1.4] L8[ 25 3.0 58| 44§ 621 89| 6.7 1.6
155]e0j02)04]07]00]L5] 20 26t 221 3.9 48| 54 81| 6.9 7.8
1sotoolo2]{major|tL|Ls| 21 951 33| 40| 47 &5y 6.3 7.2| &0
#65.5]00ko2|04]orbLLiLE} 21| 27 34| 41 49| 57] 6.5 7.4 8.2
1.01celezjos07 ]| 1}LGY 22 vat 3.5 42| 50| 59| 67] 7.6] &5
17.5jco|Gzjo4l08 (12|07 22 261 36| 44| 52) 60) 65| 7.8| 8.8
wofoofez|o4]osfrelar| 23| 80| az] 45| 83 6.2} 711 &17 0.0
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 46) 651 64| 13| 83| 9.2
isoloilo2leslos| L3 |8 2.4 3.1 30| 48| 5.6 6.6) 7.6 84| 0.5
19,5106 10.2|05]08] L3 9] 25| 321 40| 49| 58] 67| 7.7| 87| 0.8
wn|otfoz|os|09rL3fLsl 26 33| 1) 50! &9 69)] 7.9 9201180

Obtain [rom the predictlons the bigh water and low water, one of which is befare and the other
alter the time for which the height is required. The differcace between the times of occurrenes of
thesa tides is the duzation of rise or fall, and the difference between their heights is the range of tide
for the sbove table. Fiod the differcnce between the pesrest high or low water and the time for
which the height is required. : :

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horitontal line find the tire (romn the nearest high or low
watar which agrees most neacly with the corresgon.dlng sctual difference. The correction sought is
in the column directly below, on the Jine with the ranes of tide.

When the nearest tide is high water, subtract the corrsction.

When the nearest tide is low water, add tha correction.

table3 557
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table3 577

TABLE 3.—HEIGHT OF TIDE AT ANY TIME 939
Tima {rom the nearest high water or low whier

h. . H.m.h,m.h,m.!h.m.h‘m.h. mlh mlhm | m b b m b m bl m Lk om
sot[coglorslons|aszlodolonfosejrod| 1212011301 144013521200
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€ Ywoloitjonlozz|odajosafros| 113|125 128|147 157208 [219;387240
S s4ofoifom|o34}oas(0sriL0s] 1101131142 153§205|216872% (230|250
e o12f021jo3s|odsiroofr1z{ 124|136 (18 |200|212) 2240236 LOwu] 3 00
220 Po13|o2s|0asiosi| 108} 1160179 141 1354|207l zp| 232245026703 10
= o 11b027 1040 (05331071220 | 133 | 147 (2007213227 ( 240|233 [557]3 20
E voolorsloos|oez|ose]1i0|12eb 138142208 (220 234)24843021316)330
s Teoloislozlossfosofiiafros|1aaf1s7y2i2f2ari2zar|23a] a1t f325)340
o 740 ]015]631|046|101]117]132| 147|203 2181230249 304(319([335(38
% gos|ots|oa2fo4rlios|120(136)152(208;2% 3240 gma|312]|228 344|400
S 520 10171033{050{107| 1230 140]157 |2132301247:3053320[30733353]410
g Bdp[017]03570562|109;1271d4]201 2192362583311 [3257245]4033420
2 goo|osfoan]osslr12f130]1487206 (2241 242:300}3 18 330354412430
E gaofoa|oaiiose|lis|133]152|21L:220) 2481307325 % 43 4031420 ) 440
£ 946 (019]036 048 |117)137 1156 2157235 | 254(313[333[352{411]431 480
woololosirootioo|tan|200l220(240]30013201340;400)420;4404500
20 to20i041 10212 [ 14312052250 245|300 3277347} 4081429]144979510
o40]o2ifo43|10t|125{147}208|229| 250 |312|333|355|416}437[450]520

Correction to height

AT A ARARAREE AR EUN TS LN 18
eslocloolecloeionloo| e2} ot rj el 01 02] 027 02] 0.2
tofonloolocloo|c1|olfal]| 0.2t 02| 0.2| 0.3 .87 0.4/ 041 0.5
csloolooloo|nitor]os]| e2) 02| 03] &) G4y 0.5 0G| 0% 0.8
rvelooloojoolotjoy|ea| 03] 03] 04| ¢85t 06 0.7} 0.8] 0.9) 10
sslooloolot|orjo2lo2] 0al 04| 05| 66| or| 09) LO| L1} 1.2
solocloolorlorfa2|os]| oa] os] 66] 08k 09] LD, 1.2] L37 L5
sslootoc|o|az|ae|as] o4 ebf 07| 03| nO| L2 14| L6} 18
volooloctor|o2iosfe4| 0.5) 07| 08f 10| 123 L4} 16) L8} 20
rsloolooleifoez]ealed| o6 07| eof L] 1.3} L6l 187 20} 22
sofoojot|oi|e2|os|os| 08| 0.8} Lo| L2} L5 LT 20| 22] 25
s5looloriorloz]oalos| ozl oo] Lit 14| 16} L[ 220 257 2.8
gotoilotjoalod]|oe| c8f ro| L2 L8| L8] 2.1 24 3.0
65900(01 |02[03|04|06]) Q8| Li: 13| 164 191 225 28 (29 3.2

g oolotloaloslosiost ool 12f Ly 18] 21| 2.4, 281N 3.5
£ 7s{oofol|o2{a3 osfor| Lof L2y Ly) L9) 22) 2.6 3.0 3.4 3.8
€ so0loolerlae|oz|ostos]| vo| 13| 16| 20| 24) 281 324 3.6 4.0
2 ssfooloticzlod|asfos| L1} 14} 18| 21} 25| 28] 3.4 381 4.2
< woloolor|nz|osjoefaof L2] 13| Ler 22) 2i 3] 361 40| 45
2 asloo|orju2|e4a]osios| L2y L6| 20f 24f 28} 3.3) 389 487 4.3
Somofeo]or|02i04l07 L0 L3 LT3 2L 23 3.0 3.8[ 40 45| 50
< nsleolotloalosjer o] vaj n7| 22] 26| 3.1} 363 42] 47| &2
2 qoloe|orfosfasloryul| Laf Lal 23] 283 3.3] 38| 441 4.9] 53
S msfootot]03|asiosiLly Laf 1.2 24| 29| 3.4 40} 46| 51} 58
$ moloolerfes|es|es)Li| Lij 20] 25 3.0 60 41| 48] 544 6o
2 psteolorfo3tasiosfnzy Le| 21l 26f 31)87] 431 500 561 6.2
= upoloolei|oalos]oelne]| 1il 2z zi] 32| 39 459 &1 581 6.5
gslooloiloslostos || Lr| 22| 28| 344 400 47] 53] 60} &8
wolocloz]oajos|oglra) ray 23| 20} 35] 42 48] &5) 6.3 7.0
tslooloz2iosloslro]nd] 1.9 24 30| 38| 43} 50| 57 f 630 7.2
Boloo|e2]|os|osfroll4] Lo 25| 5i| 88] 4¢] 827 &9} 673 1§
wsloejozloslos|rofrLs| 20f 2643239} 48| 541 81| 6.0/ 7.8
Goloolozjeeler|vifns]| 21] 287 23 40 47y 85 63| 7.21 &0
wsloofoz]|os|ortnitug) 2t 27| 34 410 49| 571 6.5f 74| 82
moloelezlosjoy|riyrel 225 28y a5} 2] 60| 59 6.7) 7.6( 85
msfeo|ezla4los|rz]rr] 22 26y 36| 44| 82| 60| 65) 7.81 88
wolooicz|o4jos|re|ir| 23| o az) 45| &3] 6.2} 7.11 8.1} 0.0
wasloiloz2|os|osjrzlug; 241 21| 38| 481 651 64| T.3| 8.3 9.2
woloi|o2les|os|na|ls| 24 a1f 30| 48 56) 6.6) 7.5) 85} 0.3
ws{ot|oz|esios|L3|Laf 25] 3.2} 40 48l 58 67} 7.7| &7/ 0.8
wnlostoz|os|oelnafrel 26] 3.3] 41) 50} &0] 68] 7.9§ 901100

Obtain from the predictlons the bigh water and low water, one of which Is before and the other
alter the time for which the height is required. The differcace between the times of occurrenes of
thesa tides is the duzation of rise or fall, and the difference between their heights is the range of tide
for the shove tahle. Find the differcnce between the pearest high or low water and the time for

which the height is required.

Fnter the table with tifé duration of rise or fall, printed in hesvy-laced type, which most nearly
agrees with the actual value. and oo that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actunl difference. The correction sought is

e

in the column directly below, on the Jine with the ranes of tide.
When the nenrest tide is high water, subtract the correction.
When the nearest tide is low water, add tha correction.
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TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
h.om b mih mlk. 'm.!h. ahoal s mlbom |hm b [ bom b om Aol h m Lk m
s0olooa|oelo2e]as2 0401 G481 0 36 104|121 20|12y 136]|144b132kF200
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§ si0|oit|oz3|0a4l045|057 1108 119|131 11421537205 1216812727 239|280

2 012§024[038 |048;100( 112 1 24 136 ta8]200| 21220236 248[3 %0
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e 1401015 ga1|ods|i01§117]|132| 147|203 2181232491304 (31933530
E gos|ots|o32to4Rb104(120(130 152|208 2i240| 2588312 3129|3444 00
S a20[0171033j050{107)1 23 L4157 | 2137236 247:303:320|33713353 410
g gipfoi7loaslosz|ioni1er|idd]| 201 210|238 2533113287345 (40342
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To90]019(037 g5a|13a[1331152] 211 20024 |307 (32534343 |428]440
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1000 |020}040]1001120[140(200 290 (240]30013201340;400 42014400500
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Correction to height

Fo. | .| Fu.j Fe | ¥t | FL Fol Ft | FL Y Py FuLo| FL Ft, It Fi. Y F1.
o.51oc]00loo]|ooi0o]0D] Gi ot 1] etf o1] 021 0.2y 0.2] 0.2
Lefoolon|o0h0g|0l1]0l 01| o2t 0z| 02] 0.2 0.3] 0.4 0.4] 0.5
1.5]o0l0c|oo|ntiol]0.:] G2 .2 0.3 0.4] G4 0.5 C6f 071 0.3
relooloojoolor]oi|ez| 03 0,30 04| o5t 06| 07| 087 0.9 LO
2slooloo|ot|01j0.2{0.2] 03 0.4l 05| 06gl o¥] 09| LO| 1| L2
soloclooele1rlor|a2(0ld| 04 0.5] 6.6 08§ 0.9 L0} 1.2 1.371 L5
s.51oo0fcooL|0a2]|02|03] 0.4 0.6% 0.7] 69| Lo n2] L4 L6 18
tolooloclor|o2i03j0.4] 0.5 07| ast wo| L2y L4| LE6| LB| 20
is5loo0loolo1y0.2]0.3]|0.4( BB 0.7 9.9 L1 1.2 L6l 1.8 2.0{ 2.2
sofooiot|oi]e2]03]|0.5] 0.6 0.8 Lol n2) L8| LT 2G) 22| &
s.5loo]orjorlo2{n4]0s]| 0.4 0.0 b1t L4 e Le] 22) 257 2.8
golootoilot]oa cefo6] €3 1.6 L2l L] L8| 20 24 27| 2.0
gs|oojor|o2|03|04[06] 0.8 Lit 1.3 1.6] nL9f 22; 26| 29 "y
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g 9.5}00[01 c.2|04]0.6109] L2 L6 20| 24| 28§ 3.3] 48 431 4.8
o 0o ooloi]o2te4lor]lo] L3| L7 21 23 3.0 35| 40| 45| 50
< joslooloetfoalos]or| o] Laf 17| 22] 26] 4.4 383 421 47 5.2
Z dendoo|0r]o3taslor il Le]| L8 23] 28} 3.3 441 49| 535

: i.5Bootot|o3]05)0.8]1y 1.3 1.0 241 29| 3.4 40D 46| 51} 58

0 - colot1losfes|ogfny] L&Y 28] 23 30 L6 5 48] 647 6.0
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= 1iof{oc{oi|oalon|0eyl2| L7 220 27] 32| 3¢ 45y 51) 58) 8.5
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tesloolo2josloc)lofld] L9 241 30| 36| 431 50| 57| 6.5 7.2
wofe0(02]/04|06)L0|1.4] L8[ 25 3.0 58| 44§ 621 89| 6.7 1.6
15510010 2)0.4|0.7]10]LS 2.0 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1sotoolo2]{major|tL|Ls| 21 257 33| 0] 47§ 551 63| 7.2| &0
5.5]00502|04|0DT7FLLfREL 2E 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA 298 wat 35 42| 50| 50 67 7.6] &35
17.5jco|Gzjo4l08 (12|07 22 261 36| 44| 52) 60) 65| 7.8| 8.8
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Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
after the time for which the height i3 required. The differcnce between the times of oceurrence of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : :

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actual value. and on that horitontal line find the tire (romn the nearest high or low
watar which sgrees most nearly with ths corresgon.dlng sctual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nearest tide is high water, subtract the corrsction.

When the nearest tide is low water, add tha correction.

table3 587
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table3 597

TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
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To90]019(037 g5a|13a[1331152] 211 20024 |307 (32534343 |428]440
5 94p |o19]035|caB 127137 (156215 295|254 (313 [333|352{411 43148
1000 |020}040]1001120[140(200 290 (240]30013201340;400 42014400500
12050203041 |102)123| 1430204 posla4s|30n|a2riadTidng 42974491510
104010204043 | 10412539147 aop| 290|251 |2312|333|355 416 437|450 820
Correction to height
Fo. | .| Fu.j Fe | ¥t | FL Fol Ft | FL Y Py FuLo| FL Ft, It Fi. Y F1.
o.51oc]00loo]|ooi0o]0D] Gi ot 1] etf o1] 021 0.2y 0.2] 0.2
Lefoolon|o0h0g|0l1]0l 01| o2t 0z| 02] 0.2 0.3] 0.4 0.4] 0.5
15looloe|oo]nitol]ot| c2) 0.2( 03} 04 c4] 0.5 06} 0¥} 0.3
relooloojoolor]oi|ez| 03 3l oe| o5k 6] 07| 0.8] 0.9 LO
»slooloolos|orjo2iea] 03| 0.4] 0.5, .8 07| 0.9] LO| 11| L2
soloclooele1rlor|a2(0ld| 04 0.5| 46| 085 0.9 L0} 1.2 1.371 L5
sslookce|or|az2]|a2|03] 04| 0.6} 0.7 09| 10| 2] L4| L&| L8
voloolocio:|o2ioafo4]| 0.5) 07| 08} LO .27 1.4 L6| LB 20
is5loo0loolo1y0.2]0.3]|0.4( BB 0.7 9.9 L1 1.2 L6l 1.8 2.0{ 2.2
sod{oojot|cifoz2]|os|0s]| 0.6] 0.8} LO L2 LB LT 2G| 22] 26
s.5loo]orjorlo2{n4]0s]| 0.4 0.91 L1t 14| L6 L. 221 2571 2.8
golootoilotjoalcs|oe| 081 10| L2] L3I L] 20 24 27| 2.0
gs|oojor|o2|03|04[06] 0.8 Lit 1.3 1.6] nL9f 22; 26| 29 "y
s LOJOOJDI a2losz|osjory ol L2¢ L4 1.8] 2.1 2.4y 284 3.1 15
€ 1.5(00[G1]|02703 05 07| Lol rejus| re| 22| 28] 3.0 3.4] 3.8
= solorlee|oa|ostos| Lo 13| L6 20| 2.4] 2.8 36| 4.0
s(ssyoo|otjoziodias|os| L1} L4} L8| 215 29 2o 34} 28] 4.2
'; golotL|nz2|odjoe|Qot L2 13 1.9 22 27 &1 4.0 4.6
g 9.5}00[01 c.2|04]0.6109] L2 L6 20| 24| 28§ 3.3] 48 431 4.8
c 10.0100[01[02¢04 o7lnol 3| L7l at] 25) 3.0 35| 40| 45| 5.0
75‘. 1wsleoloetloalos]oz|roy vaf L7 22] 26 3.8} 381 4.2)] 4.7} &2
2aejocfor]ostesior)hl L4l L8] 23| 28} 3.3] 3&B| 44} 49| 55
Z i.sjootot 0305|081y i 1.0 241 29| 3.4] 40} 46| 51} 58
w 13,0 colet1losfes|ogfnt] L&Y 28] 23 300 6L 41 4.8 547 6.0
S 1zs300(01]03}0.5;08(12 L.a] 21| 28] 3.1} 37 43| 5901 56] 6.2
= 1iof{oc{oi|oalon|0eyl2| L7 220 27] 32| 3¢ 45y 51) 58) 8.5
isloelotiesiontog|id L7 22] 28| 3.4} 40l 47) 52| 60| &8
woloojozloalos|oelra) La] 23] 29} &6 42| 481 55| 63| 1.0
tesloolo2josloc)lofld] L9 241 30| 36| 431 50| 57| 6.5 7.2
B.ofo0lo2]|os|o6)L0fL4f 1.9 25| 3t 3.8 44 527 59| 67T) 1.5
15510010 2)0.4|0.7]10]LS 2.0 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1sotoolo2]{major|tL|Ls| 21 257 33| 0] 47§ 551 63| 7.2| &0
5.5]00502|04|0DT7FLLfREL 2E 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA 298 wat 35 42| 50| 50 67 7.6] &35
17.5jco|Gzjo4l08 (12|07 22 2671 36| 44| 5.2) 6.0 6.9 7.8 8.8
wofooiez|o4fosfrelir| 23| 30) 27 45| 53] 6.2} T.1] &1 €O
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 48 651 64| 7.3 8.3 9.2
poloifo2les5(08(L3 1.1 24V 3.1 30| 48| 5.6 6.6} 7.5 &% 0,5
vsjotloz|{as|os|L3]|Ly]| 25| 82 4L,0| 49| 58| 6.7] .7 87| 0.8
wn|otfoz|os|09rL3fLsl 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
after the time for which the height i3 required. The differcnce between the times of oceurrence of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with ti# duration ¢f rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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table3 607

TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
h.om. W m.h,m.h,m.!h.m.h‘m.h. mlh mlhm | m b b m b m bl m Lk om
s0olooa|oelo2e]as2 0401 G481 0 36 104|121 20|12y 136]|144b132kF200
£20]0093017102670351043 o211 100t 18 127 151 44 1583({20t7210
o 440]009)019 028|037(0475056/105] 1135 PR TO S I B L I Q- S ) B A 1§ 220
_é 5001010:02010309040t080(100 r10lieo|130]1d0]|150{200|210(220] 230
Z soafori|o2n]|0a2|043j053[104 Tialeosbias|Larl 157|208 21832291240
§ si0loit|ozm(oa4l045|057 108 119|131 11421537205 1216812727 239|250
g 012f021]o36|0o48{100 (k12| 1241361148200 212221236 ( 248 LG
BCeo0doialoos|oaxios[105]116{ 1201 4t 1342071219232 24524670310/
ool G13t0271040)0533107 [120] 133147 ap0tai3lezrledn | 283|307 | 3R
E voolorsloos|osz|ose|1i0|12eb 1381 a2 208 220 234)24843021316)330
5 72wlowslozloadsjosoll13;123 143157122227 i241 25633 )325(2340
e 1401015 ga1|ods|i01§117]|132| 147|203 2181232491304 (31933530
E gos|ots|o32to4Rb104(120(130 152|208 2i240| 2588312 3129|3444 00
S a20[0171033j050{107)1 23 L4157 | 2137236 247:303:320|33713353 410
g B4p|0l7 oaslosz|rootlor]|ids| 201|210 (238 283 (311 3283451403420
Z 4000018303005 1211307148 206|204} 242]30012181330(354[412]1430
To90]019(037 g5a|13a[1331152] 211 20024 |307 (32534343 |428]440
5 94p |o19]035|caB 127137 (156215 295|254 (313 [333|352{411 43148
1000 |020}040]1001120[140(200 290 (240]30013201340;400 42014400500
12050203041 |102)123| 1430204 posla4s|30n|a2riadTidng 42974491510
104010204043 | 10412539147 aop| 290|251 |2312|333|355 416 437|450 820
Correction to height
Fo. | .| Fu.j Fe | ¥t | FL Fol Ft | FL Y Py FuLo| FL a3 It Fi. Y F1.
o.51oc]00loo]|ooi0o]0D] Gi ot 1] etf o1] 021 0.2y 0.2] 0.2
Lefoolon|o0h0g|0l1]0l 01| o2t 0z| 02] 0.2 0.3] 0.4 0.4] 0.5
15looloe|oo]nitol]ot| c2) 0.2( 03} 04 c4] 0.5 06} 0¥} 0.3
relooloojoolor]oi|ez| 03 3l oe| o5k 6] 07| 0.8] 0.9 LO
»slooloolos|orjo2iea] 03| 0.4] 0.5, .8 07| 0.9] LO| 11| L2
soloclooele1rlor|a2(0ld| 04 0.5| 46| 085 0.9 L0} 1.2 1.371 L5
sslookce|or|az2]|a2|03] 04| 0.6} 0.7 09| 10| 2] L4| L&| L8
voloolocio:|o2ioafo4]| 0.5) 07| 08} LO .27 1.4 L6| LB 20
¢5toolo00]o1102]0.3|04]| G.6 0.7] 9.9 L1 1.2 L6l 1.8 2.0{ 2.2
sod{oojot|cifoz2]|os|0s]| 0.6] 0.8} LO L2 LB LT 2G| 22] 26
s.5loo]orjorlo2{n4]0s]| 0.4 0.9 Lttt L4 16 L. 221 2571 2.8
golootoilotjoalcs|oe| 081 10| L2] L3I L] 20 24 27| 2.0
gs|oojor|o2|03|04[06] 0.8 Lit 1.3 1.6] nL9f 22; 26| 29 "y
s LOJOOJDI a2losz|osjory ol L2¢ L4 1.8] 2.1 2.4y 284 3.1 3.5
€ 1.5(00[G1|02703 05 07| Lol rejus| re| 22| 28] 3.0 3.4] 3.8
Z goloolorlce2|oz|ostos| Lo L3 1.6 20| 2.4) 281 3.2y 36| 4.0
2 8500010620408 0.8 L1} nd4] LE| 21 25| 28] 3.4 L8] 4.2
'; g.ojooloL(nz2(0o4j08(00 L2i L5 L9 22] 271 3.1 A6 40| 45
g 9.5}00[01 c.2|04]0.6109] L2 L6 20| 24| 28§ 3.3] 48 431 4.8
o 10.0100[01[02¢t04 o7lnol 3| L7l at] 25) 3.0 35| 40| 45| 5.0
EANR00]101103]105]07 o] 1ap 17| 221 26 3.8} 3.6 4.2 47
“Ciopoofor]ostesior)ll 1.4 1.8l 23] 28% 3.3] 3.83| 44 +90 535
: " aolot|o3fosjos|rly 5| LG 240 29 3.4] 40} 46] &1 o
w 13,0 colet1losfes|ogfny] L&Y 28] 23 300 6L 41 4.8 547 6.0
S 1zs300(01]03}0.5;08(12 L.a] 21| 28] 3.1} 37 43| 5901 56] 6.2
= 1iof{oc{oi|oalon|0eyl2| L7 220 27] 32| 3¢ 45y 51) 58) 8.5
isloololioalontog (i3 L7 22] 28| 3.4} 40l 47) 52| 60| &8
woloojozloalos|oelra) La] 23] 29} &6 42| 481 55| 63| 1.0
tesloolo2josloc)lofld] L9 241 30| 36| 431 50| 57| 6.5 7.2
B.ofo0lo2]|os|o6)L0fL4f 1.9 25| 3t 38| 447 527 5.9 6.7 1.5
15510010 2)0.4|0.7]10]LS 2.0 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1sotoolo2]{major|tL|Ls| 21 257 33| 0] 47§ 551 63| 7.2| &0
5.5]00502|04|0DT7FLLfREL 2E 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA 298 wat 35 42| 50| 50 67 7.6] &35
17.5jco|Gzjo4l08 (12|07 22 2671 36| 44| 5.2) 6.0 6.9 7.8 8.8
wolooiez|o4losfrzlir| 23] 30 37| 43 53| 6.2} 7.1 &1 €0
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 48 651 64| 7.3 8.3 9.2
poloifo2les5(08(L3 1.1 24V 3.1 30| 48| 5.6 6.6} 7.5 &% 0,5
vsjotloz|{as|os|L3]|Ly]| 25| 82 4L,0| 49| 58| 6.7] .7 87| 0.8
wn|otfoz|os|09rL3fLsl 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom the predictlons the bigh water and low water, oze of which s before and the other
alter the time for which the height is required. The differcace between the times of occurrenes of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with tif duration of rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which agrees most neacly with the corresgon.dlng actual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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TABLE 3.—HEIGHT OF TIDE AT ANY TIME 239
Tima {rom the nearest high water or low water
k. m. H.m.h,m.h,m.!h.m.h‘m.h. mlh mlhm | m b b m b m bl m Lk om
s0olooa|oelo2e]as2 0401 G481 0 36 104|121 20|12y 136]|144b132kF200
£20]0093017102670351043 o211 100t 18 127 151 44 1583({20t7210
o 440]009)019 028|037(0475056/105] 1135 PR TO S I B L I Q- S ) B A 1§ 220
_é 5001010020l 0307040t080] 100 r10lieo|130]1d0]|150{200|210(220] 230
Z soafori|o2n|0a2|043j053 (104 Tialeosbias|Larl 157|208 |218:2291240
§ § oitlozloadlossfosritlogf119(1 A 142[153§205|2167227(239]|230
2 4 00 12i024]038 | 0487100 | F12] 1 24 136l y48) 200212224236 24803 %
v cialos|oastiosi 1031160 120 1 41 1342071 219|232 245 2 67 0=l
= 64010135027 1040 0531107]120|133 1472007213 1227 240 | 253|307 (3 20
‘5-300 014|028 |042|056|110]1 2 138152268 2om|234]248§30253161330
5 72wlowslozloadsjosoll13;123 143157122227 i241 25633 )325(2340
e 1401015 ga1|ods|i01§117]|132| 147|203 2181232491304 (31933530
E gos|ots|o32to4Rb104(120(130 152|208 2i240| 2588312 3129|3444 00
S a20[0171033j050{107)1 23 L4157 | 2137236 247:303:320|33713353 410
g B4p|0l7 oaslosz|rootlor]|ids| 201|210 (238 283 (311 3283451403420
Z 4000018303005 1211307148 206|204} 242]30012181330(354[412]1430
To90]019(037 g5a|13a[1331152] 211 20024 |307 (32534343 |428]440
5 94p |o19]035|caB 127137 (156215 295|254 (313 [333|352{411 43148
woe|o20l040]1001120]|140(200 290 (240]30013201340;400 42014400500
12050203041 |102)123| 1430204 posla4s|30n|a2riadTidng 42974491510
104010204043 | 10412539147 aop| 290|251 |2312|333|355 416 437|450 820
Correction to height
Fo. | .| Fu.j Fe | ¥t | FL Fol Ft | FL Y Py FuLo| FL a3 It Fi. Y F1.
o.51oc]00loo]|ooi0o]0D] Gi ot 1] etf o1] 021 0.2y 0.2] 0.2
Lefoolon|o0h0g|0l1]0l 01| o2t 0z| 02] 0.2 0.3] 0.4 0.4] 0.5
15looloe|oo]nitol]ot| c2) 0.2( 03} 04 c4] 0.5 06} 0¥} 0.3
relooloojoolor]oi|ez| 03 3l oe| o5k 6] 07| 0.8] 0.9 LO
»slooloolos|orjo2iea] 03| 0.4] 0.5, .8 07| 0.9] LO| 11| L2
soloclooele1rlor|a2(0ld| 04 0.5| 46| 085 0.9 L0} 1.2 1.371 L5
sslookce|or|az2]|a2|03] 04| 0.6} 0.7 09| 10| 2] L4| L&| L8
voloolocio:|o2ioafo4]| 0.5) 07| 08} LO .27 1.4 L6| LB 20
¢5toolo00]o1102]0.3|04]| G.6 0.7] 9.9 L1 1.2 L6l 1.8 2.0{ 2.2
sod{oojot|cifoz2]|os|0s]| 0.6] 0.8} LO L2 LB LT 2G| 22] 246
poelotiovbioz|oalos| 03t 0.9 L1 1.4 L6 L] 221 2.5
8.0 )o,o oilotioaled|oe| o2y rof La] Li| L8[ 214 24| 27 (50
cojoti|o2|a3|od|06) 08| LI .3 18] Lo} 22§ 26| 29 7
s LOJOO]DI a2losz|osjory ol L2¢ L4 1.8] 2.1 2.4y 284 3.1 35
€ 1.5(00[G1|02703 05 07| Lol rejus| re| 22| 28] 3.0 3.4] 3.8
Z goloolorlce2|oz|ostos| Lo L3 1.6 20| 2.4) 281 3.2y 36| 4.0
2 8500010620408 0.8 L1} nd4] LE| 21 25| 28] 3.4 L8] 4.2
'; g.ojooloL(nz2(0o4j08(00 L2i L5 L9 22] 271 3.1 A6 40| 45
g 9.5}00[01 c.2|04]0.6109] L2 L6 20| 24| 28§ 3.3] 48 431 4.8
c 10.0100[01[02¢04 o7lnol 3| L7l at] 25) 3.0 35| 40| 45| 5.0
75‘. 1wsleoloetloalos]oz|roy vaf L7 22] 26 3.8} 381 4.2)] 4.7} &2
2aejocfor]ostesior)hl L4l L8] 23| 28} 3.3] 3&B| 44} 49| 55
: imsjoolor|o3josjos|1y L .07 24 26| 3.4 40} 46 &1} 58
w 13,0 colet1losfes|ogfnt] L&Y 28] 23 300 6L 41 4.8 547 6.0
S sjao|ol p.3tos5leB|ne Lo 211 2.6 1) 371 43 50 58] 6.2
= 1iof{oc{oi|oalon|0eyl2| L7 220 25] 32| 36| 457 51| 581 85
isloololioalontog (i3 L7 22] 28| 3.4} 40l 47) 52| 60| &8
woloojozloalos|oelra) La] 23] 29} &6 42| 481 55| 63| 1.0
tesloolo2josloc)lofld] L9 241 30| 36| 431 50| 57| 6.5 7.2
B.ofo0lo2]|os|o6)L0fL4f 1.9 25| 3t 38| 447 527 5.9 6.7 1.5
15510010 2)0.4|0.7]10]LS 2.0 261¢ 3.2 3.9 48| 54 6.1 6.9 T.8
1sotoolo2]{major|tL|Ls| 21 257 33| 0] 47§ 551 63| 7.2| &0
5.5]00502|04|0DT7FLLfREL 2E 27| 34| 41 49| 57] 6.5F 7.4 8.2
17.0100|¢2}04(0.7]|L1YLA 298 wat 35 42| 50| 50 67 7.6] &35
17.5jco|Gzjo4l08 (12|07 22 2671 36| 44| 5.2) 6.0 6.9 7.8 8.8
wofooiez|o4fosfrelir| 23| 30) 27 45| 53] 6.2} T.1] &1 €O
wsloitloz2|05|0.8{1.2§1.8} 24 3.1 a8) 48 651 64| 7.3 8.3 9.2
poloifo2les5(08(L3 1.1 24V 3.1 30| 48| 5.6 6.6} 7.5 &% 0,5
vsjotloz|{as|os|L3]|Ly]| 25| 82 4L,0| 49| 58| 6.7] .7 87| 0.8
wn|otfoz|os|09rL3fLsl 26 33| 1) 50!t 50| 6.0 7.9} 90116.0

Obtain [rom the predictlons the bigh water and low water, one of which is befare and the other
after the time for which the height i3 required. The differcnce between the times of oceurrence of
thosa tides is the duration of rise oc fall, and the difference between their heights is the range of tide
jor the sbove tahle. Find the differcnce between the nearest high or low water and the time for
which the height is required. : .

Enter the table with tif duration of rise or fall, printed in heavy-laced type, which most nearly
agrees with ths actusl value. and on that horizontal line Gnd the time (rom the nearest high or low
watar which sgrees most nearly with ths corresgon.dlng sctual difference. The correction sought is
in tbe columz directly below, on the jine with the ranes of tide.

When the nenrest tide is high water, subtract the correction.

When the nearest tide is low water, add tha correction.
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|1279. For- 3 MNovembeorr 1983, at 0830 EST (ZD +5) at Catskill, NY, what s the predicted height of taide

B | By ur—rers

Reference Stationcrew York, po.sS5)
Dit+t. at Sub. Statsond Catskal MY, a5sF3__ead

Destred +umc— SN Duration— sEEs

tide1279

S55. vour vesse7 wii7 _be dockina St Chester, Fa, durina The svenina oF 52 ABri1 1S8s.  The char® Shows
depth of water awailablc at 2310 £ST c=o 153>

= depth of =0 Te=t ©S.1 meter=5 at The pier. what wiil be The

P e L ]~ n vt (7. metecas. |

Refersnce sStationc(Philadeiphia. pa-7e)

arae of Tide — S =2

LiFF. ar Sub. Stationclhester Tseea €3 Corrcction Irom labie 3 — ol
Yy

Bepti or wWerar za’a

TR S
Time To nearest hiah—

Desired ©ime— SN

tide1288

e T=s= 1 S=as a

B | D P SoYESs] SSEERp e
, o on

tide1299

1469. The charted channel depth at Eastport. ME., is 28 fest. vYou are drawing 31.5 feet and wish 2 feet clearance under the keel. What is the earliest time after 1700
o

(ZD +4) on 6 September 1983 that wou can enter the channel?

AnswersT 1825 r Ss0s | T — 2003

Time Height Duration of Tide — &s:05
High Low Time to Mearest (H or L3 2:2a
Reference Station(Eastport, pa.28) o -1.8 Range of Tide 2z.9
DifFF. at Sub.( Eastport, ME. 627) o.o 0.0 Correction From Table 3 z.6

Corrected Time of Tide 1w Height of Tide —
correction from table 3 [eS] z:1 £ Charted Depth zs

Depth of water
€+3 1 hr Tor DST — Desired time

orart— s1.s
sarety margin
Desired height

5.6 which 4= 1.2 of 7.5 =mcros= From rangs
is 1/2 of 22.3 as the closest determined correction

e NIRRT Por o 6105 o w11 Trweersect a3 Thisnumbercomesfrom the difference

2 as time from nearest high or Tow. In this case it is O s T
B - e s s T S 4SS N oY Se o necden o peta
e S L I e Y i et or

safety margin of 2' when vessel
drawing 21.5".

35

tide1469
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357: On 10 August 1983 you will dock near Days Point, Weehawken, on the Hudson River, at 1800 DST (ZD +4). The charted depth alongside the pier is 24 feet (7.3 meters).
What will be the depth of water when you dock?

Answers 23.5 feet (7.1 m)

24.9 feet (7.5 m) 26.3 feet (8.0 m)

Time

Height Duration of Tide = 6:14
High Low High Low Time to Mearest (Hor L) = 1:01
Reference Station({The Battery) 21:50 15:36 59 -0.5 Range of Tide = 6.1
Diff. at Sub. Station{ Weehawken) 0:24 0:23 -0.3 0.0 Caorrection From Table 3 = 0.4
Corrected Time of Tide 22:14 15:59 5.6 -0.5 Height of Tide = -0.1
Charted Depth= 24
Depth of Water = 23.9
Desired time= 17:00 Duration= 6:14 Time to nearest high or low= 1:01
5.6 high
average low
-0.5 Tow
6.1 RANGE
tide357
367 What will be the time after 0800 EST (ZD +5} that the height of the tide at South Freeport, ME, will be 6.0 feet (1.8 meters) on 7 November 19837
Answers[0936 [o942 [ogs1 [1001 |
Time Height Duration of Tide = 6:12
High Low High Low Time to Mearest (H or L) = 2:46
Reference Station{Portland) 12:25 6:13 10.1 -0.2 Range of Tide = 10.2
Diff. at Subordinate Station( S. Freeport) 0:12 0:10 -0.1 0.0 Correction From Table 3= 4.0
Corrected Time of Tide 12:37 6:23 10.0 -0.2 Height of Tide =| 6.0
Charted Depth=
Depth of Water =
Desired time=9:51 Duration= 6:12 Time to nearest HIGH = 2:46 Range= 10.2
Time to nearest LOW = 3:28
10.0 high
average low water
-0.2 low
10.2 RANGE
tide367
407. wWhat would be the height of the tide at Crisfield, MD, at 0310 DST (ZD +4) on & May 19837
Ansvles 1.1 feet 1.6 feer
Time Height Duration of Tide = 6:08
High Low High Low Time to MNearest (H or L) = 0:34
Reference Station(Hampton Roads pg8s) 21:36 day before 2T 0.5 Range of Tide = 1.4
Diff. at Sub. Station{ Crisfield, MD, 1979) (+24:00 —0.5 0.0 Correction From Table 3 0.0
Corrected Time of Tide 25:36 may 6th 1.6 0.5 Height of Tide 8
1:36 may 6th Charted Depth=
Depth of water =
Desired time= 3:10 Duration= 6:08 Time to nearest high or low= 0:34
Time given as DST subtract 1 hour. [ |
1.8 high
average Tow
0.5 Tow
ToX RANGE
tide407
417. On & July 1983, at 1830 DST (ZD +4), what will be the predicted height of tide at Newburgh, NY?
Answers [ 3.3 Feet | 3.6 Feet [ 2.3 Fect ST
Time Height Duration of Tide 5:56
High Low High Low Time to MNearest (H or L) = 2:56
Reference Station(Mew York, pg5e) 16:44 10:30 5.0 0.4 Range of Tide = 2.9
Diff. at Sub. Station( Newburgh, NY. 1545) 3:42 4:00 -1.5 0.2 Correction From Table 3 = 1.5
Corrected Time of Tide 20:26 14:30 3.5 0.6 Height of Tide
Charted Depth=
pDepth of water =
Desired time= Duration= 5:56 Time to nearest high or Tow= 2:56
Time given as DST subtract 1 hour.
3.5 high
average Tow
0.5 Tow
2.9 RANGE

tide417
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437. Your vessel will be docking =t Chester, PA, during the svening of 22 Ap

what will be the depth of water available at 1856 EST ZD +537

Answers  [zz.a

Time

Reference Station(Philadelphia pa7ed
at

feet Co.= m> [IEa0E

=o s3>

The chart

shows a depth of 20 Ffect 6.1 metersd at the picr-

Festlceooiml| 24.9 Feet (7.6 m |

25.7 feet 7.8 m> |

Hedght Duration of Tide
High Low Time to Mearest (H or L)
6. o.3 Range of Tide
—o.s 0.0 Correction From Table 3
5. 0.5 Height of Tide =

Charted Depth
Depth of

water

Time to nearest high or Tow= 2:17

high

P

Diff. Sub. Station( Chester, PA. 1857) (-2
i

besired time—  EESSEI buratian

%

e

o=

s

s O ERPETASANY s D SRR I N e

Answers

RANGE

Gf Lide ab Falkoer

charted depth 20°

Tow Height of tide— 5.6 — 2.0 correction

Toland, oT

5.6 teet (1.7 m)

High L owr
Reference Station(Bridgeport. po.4s) A31:15 s:os
DiFF. =t Sub. tion CFallk =tand, 12193 C-> o:1z €3 o2
Corrected Time of Tide Ti:o= Sial

Desired time—
DST €ZD +ad

tide447

s.s
1.2
s.8 CrE=

6.2 teet

1.9 m)

Time to nearest high or Tow— DESEEEEN
hiuh
average Tow'chartad depth™

Tow

at 1810 DST ZD +13-

A57. Find the height of the tide =t Port wentworth, GA, on 5 October 1983,
Answers 5.0 Feot 5.5 Feer
Retarance Station(Sawvannah,
DiFF. at Sub. Station( Port Wentwo: -

4.0 Feot

psT

tide457

AST. AL whal Lime ol Ler 4400 EST €20 +53. wn @ Januarsy 1983,

Answers [

Bolmrence SLalionCSavannat, po. 1083

Stationc Port wentworth.

SiTr. =t sub.

Enlzrasd ey
as

Vime T 13

errected

tide467

on 10 Apra:

T P - RS T L oraean oo R
anmwer~ [iFest T
e —y &
IR lod-riciioRel piomial S NG g
o M

Desired time—

tided77

on & March 1983,

that the height of the tide at

Duration of Tide
lime To Nearest ol

[ CH
—o. o Range of Tide
o.o Correction From Table 3 —
o. 5 Hesght of Tid

Depth of wat

7 o

Time to nearest high or

hiah
P

Averaoe

Tow

1983

HeighT

o b
ol= olo Correction ©
3.7 o.o

Time Th nemArest high— S:ad
Time to nearest 7ow— S
haah

R i T

Tow

Puerto Rosales, Argentina, will be 9.0 feet (2.7 meters)?

487. What will be the time after 0600 (ZD +3),
answers [ orao r orsa r os40 [ ese2 1]
Taime Height Duration of Tide = 5:59
High Lo High Low Time to Nearest (H or L) 2:24
Reference Station(Puerto Belgrarno, pg-184) 11 :42 5:36 a1z2.9 o.9 Range of Tide = 1i2.2
Dirr. ( FucrEo Resales, Argentima. 37a7) (43 .00 ¢+ o:or oD o1 o1 CHREFESEIEE From TabTe 9 22
Corrected Time of Tide 5:43 13.0 0.8 Height of Tide
&S slo time of desired height [

Desired time—

Desired Height—

Enter table 3 with 4.1 across from range 12.0 as

correction to nearest Jlow. Across from

intersect with 2:24 as time from nearest

is High @ 11:43 — 2:aa 09:18 as the
correct answer.

Work backwards.
the closest determined
duration 5:59 wou will
high or low. In this case it
time tide will be 9'. Close enough to choose

tide487

4.0
8.z
12.2

RANGE

9.0 desired height
8.2 Depth of wWater

Time to nearest hig
Time to nearest high or low—

high

average Tow

Tow
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en 5 March 1983,

when the height of the tide at Port of Spain,

r

497. what will be the time after 0300 (ZD +43,
Answers P
Reference Station(Punta Gorda, pg.160)
DifT. ¢ Port of sSpain, Trinidad. 3s581) [E5]
Corrected Time of Tide z:36
(=

Desired time— Duration— 6:02
Desired Height

Enter table 3 with 0.6 across

+ ion to -

from range 1.6 as
high. Across from
time from nearest
2:36 06:02 as
with question for

Work backwards. o.6
the closest
duration 6:02 you will intersect with 2:36 as
high or In this case it is High @ 8:38
the time tide will be 2.5'. “See diagram 2

example.

tide497

2.5

—1.0
Time to nearest hig
Time to nearest high or low= n/a

high

averags Tow

Tow

i T e B e P P
Answers [ r izas Lizas
e i
High Low High L Ow
Reference Station(willets Point, pg 52D 15 :47 9:55 6.5 —-0.4
Diff. ( city Istand, NY. 1261) <2 0:03 <=2 0:03 D 0.1 o.0
Corrected Time of Tide 15 =44 9:52 6.6 -0.4
. o 2.4 2.4
= =

Time to nearest high

Trinidad,

will be 2.5 feet (.76 meters) 7

*x0.31 + 1.4 for both

Duration of Tide

Time to Mearest CH or L)
Range of Tide

Correction From Table 3
Height of Tide
desired height
Depth of Water

desired height time of

nsa

NY, will be 2.4 feet?

Duration of Tide sz
Time to Nearest (H or L)
Range of Tide
Correction From Table 3
Height of Tide
desired height—
Depth of water

s
z

time of ETEs

desired height

nsa

Time to nearest high or low= n/a

Besired Eime— s:s2
Desired Height
Work backwards. Enter table 3 with 2.8 across from range 7.0 as e high
Fhe clomest ditermined_ cornecbaons by mensest hight ACEoss: Smom
duration 5:52 you will intersect with 2:36 as time from nearest I —
high or Tow. In this case it s Low @ 9:52 + 36 12:28 as the
L il Gt 2T e i gl s = - .
example. —
R e = ERe Br=SsoE=a FeSoPE oF TS0= =t SorsooR=. Oor==eR= TaT=E. meT
S ——s I Erryr——— s |
. == v Time o Mearest oH or L3 —
R pornmnm; SR K im s = oo Tt
oirr. GT Cocrocone: Goracoke Taler 2o 3o oo Cornaction e S Eas =
) SRRt R
[ U e ST Sk peEseT—
nion
e
| | o
[F=7 =7 = sor= weess == wris €5v =5 555 what wiT1 Be the predieeed Revent of wies sw smeseers s
AnmwereCo s rece I N = s =t <3 .3 weteran ]| 4T et a4 m—recs

Y =% i 272
na 25T SoRTTANITSATRAAZININTTRA TR6IE) s P, aZ BN —— oo a
et 2z al? e
time to ncarcst 1ow—
Desired ©mo— == 1ime to mearcst hdoh— 81
htan
PR
e = ==
[Fr7 o = mevenber wvess we wese Lot TEe 1SS, whee w1l b= Tne reaveved Retene of wa e ruTeens 1O
Answer N - - . o [ios roer s wmieros [ 5oe rone e wmiers ]
fme [ES——
op—
Rt cnce SEataonMaypect, pe.1on =3
sarr. TS ELOTTSILITINAANTICNTT A TTA02D o s > T2
LIRSS TEE TN ==
S — L = e
nion
= average Tow
e
———————
= T e i e R R e e T e e e e
tor a safety margin of 3 feet, what is the earliest time atter 1600 DST  (ZD +4) that this passage can be made?
answer = IS asas I isss r EEre

TEme

Reference StationfSavannah River, po.1003

(<5

DiFF. at Sub. Stattont Deaufort, SC. 26835 e o
Corrected Time of Tide IEEEEENEGESS Izt
<
Nearest
Desired tme— S Buration O
ok EEe = i A2 e TTen ramee e =
the closest determined correction to nearest hiah. Across from . L
Sunatren -
naign or
the time -
example. Secause the question e
e o

tide557

This numbercomes from the
difference berween average low of




T e R T T T S
e TR Taeh anter SOGR I nThY B s e CE T e B S e T (R e e Rl el e D e
Rererance stationcmoston. po. 38>
LiTr. ST Sub. Leamient Lavell ssiand. AT ba33 €
The —
Bration Grid vou will Aotersect with Sioc. Ax Time From nearess
SA7. wour we==e3 has a araftr of a4 Feors Geroner T9AS o wish Tn pAss muer An mhetTrucrion near GaTrrey Baant, WA, ThAT hAs a charted denth mr 1 Feer. ATToeino
For o cafcty margin of 3 foct, what 32 the carlicat time offer 0500 DT | C2D 14> that this passase can be mades
el oszo S — 23zo T EEEE
Time 1esabhe

Reference StationcrPortland.
BEFE. AT mub. STAaTionl faFfrey poTar,

po. 323

e
Corrected iime of 1ide T o =esea =
<
|21.6
To.3| W
1.0
: RANGE

tide587

557. wou will be loading
to have 3 feet of keel clearance.

Sn Boston Harbor to a maximum draft of

B

safety margin of 2' when vassalis
Arawing 2a’

The ste

The charted depth of an obstruction
aming time from the pier to the obstruction

Sn the channel near Boston Light

i= 50 feet and vou wish
is D1lh OSm. what is the Tatest time (ZD +4) wou can sail on 17 May 1983 and meet
these requirements?
il 1c10 | S EEESY r 2350
Time Height Duration of Tide 6:01
High Low High L ow Time to Mearest CH or LD 0:00
Reference Station(Boston, pg.36) 14:57 20:57 2.3 o.4 Range of Tide s.4a
DiFF. at Sub. Station(Boston Harbor. 9383 _ =) o0:00 > o:01 <> 0.5 0.0 Correction From Table 3 3.3
Corrected Time of Tide 20:58 B.8 o.4 Height of Tide
> 2:56 correction from table 3 €-3 5.5 5.5 Charted Dept s0
Nearest Depth of water
time to obstruction > ] Bl nearest Tow= Draft 32.5
> bsST o> DT eroi | Time o Safety margi 5.0
esired timel Desired height ECPES
Work backwards. Enter table 3 with 3.3 across from range 8.4 as |55.8 M
the closest ined ion to t high. Across from N = — = =
Gicaiion B0k you Wil intersech wWith BiS6 m= Cime from pearest s.s] s.sT eaz:zs EiEnt sk sanE hoah e e
o o 1 et L S between average low of 30’ and the
the time tide will be 35.57. See diagram 27 with question for S 1o desired height of 35.5' neededtogeta
example. Because the question is in DST wou must add 1 hour to R = s ™ safety margin of 3' over the obstruction
the answer to arrive at 17:28 when the tide will be 35.5"_ RANGE

tide597

when vesselis drawing 34

o EsT (=

5 +53. -

= Fabruary

Thar veu can

Hesont

Chartoa Depih =s
vepth oFf water —
Safcty margin—oi3 z.0

657. vour draft s 24 Teet. vou wish to pass over an obstruction near Lovell Island, MA, on 6 May 1985. The charted depth is 22 feet. Allowing a safety margin of 3.0
Feet, what is the earliest time after 0200 DST (ZD +4) that this passage can be made?
Answers[ oz1s r ozas il o310 [ esar ]
Time Height Duration of Tide 6:12
High Low High Low Time to Nearest (H or LD 2:16
Reference Station(Boston, pg.36) s:s5 23:44 day before 5.5 1.9 Range of Tide 6.2
Diff. at Sub.(Lovell Island, MA. 9413 _ G 0:02 0.4 0.0 Correction From Table 3 3.1
Corrected Time of Tide s:57 5.1 19 Height of Tide
correction from table 3 [e5) 5.0 s_ o Charted Depth 2z
==y Depth of water
-2 24:00= Draft 24.0
€+3 1 hr for DST — Desired time Safety margdn—C+ s.0
Desired height 7.0
Enter Toble 3 with 5.1 =cross Trom ranoe 6.2 == the ciose=t
determined correction to nearest high. Across from duration 6:i: . = " -
ou will dntersect with 3:00 as time freom nearest high or Tow. :nur“bgrcome>1;'°n"tfhef"ff:'ghnc’
In this case it is low @ 23:45 the day before + 3:00 26:45 —| =tvircen secremnts kool 2= St fee
24:00 — 02:45 + 1 hr for Standard Time — 03:45 as the time tide]
will be 27°. “See diagram =z

with question

For example.

tide637

average Tow

desired heightof 27' needed togeta
safety margin of 3' when vesselis
drawing 24",



